
MATHS

BOOKS - TARGET MATHS (HINGLISH)

QUADRATIC EQUATIONS

Examples

1. Classify the following polynominals as linear

and quadratic: 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yZT5Zi5weVnW


(i)  (Ii)  


(iii)  (iv) 3x^(2)-5x 5x^2`

Watch Video Solution

5x + 9 x2 + 3x − 5

3x − 7 (v)

2. , Write the

polyniminals in the index form. Observe the

coefficients and fill in the boxes.

Watch Video Solution

x2 + 3x − 5, 3x2 − 5x, 5x2

https://dl.doubtnut.com/l/_yZT5Zi5weVnW
https://dl.doubtnut.com/l/_0NZ6xlt6nrjZ


3. Complete the following table: 

Watch Video Solution

4. Decided which of the following are

quadratic equations ? 

(i) .

Watch Video Solution

9y2 + 5 = 0

https://dl.doubtnut.com/l/_ZDkW0JfphkTu
https://dl.doubtnut.com/l/_73aLCMiJSwxb


5. Decided which of the following are

quadratic equations ? 

(ii) 

Watch Video Solution

m3 − 5m2 + 4 = 0

6. Decide which of the following are quadratic

equations : 

Watch Video Solution

(m + 2)(m − 5) = 0

https://dl.doubtnut.com/l/_73aLCMiJSwxb
https://dl.doubtnut.com/l/_5v8bdKDcRadu
https://dl.doubtnut.com/l/_itnm3HEnhDLd


7. For the quadratic equation

 check whether 


(i)  


are roots or not?

Watch Video Solution

2x2 − x − 10 = 0

x = − 2

8. For the quadratic equation

 check whether 


(ii)  


are roots or not?

2x2 − x − 10 = 0

x =
−5

2

https://dl.doubtnut.com/l/_lzgCaoufBKdZ
https://dl.doubtnut.com/l/_4Fj7PHvrPmx0


Watch Video Solution

9. One of the roots of the quadratic equation

 is 5. Complete the

following activity to find the value of k .

Watch Video Solution

kx2 − 14x − 5 = 0

10. Find the factors of the following

polynominals. 

(i)  .

Watch Video Solution

x2 − 4x − 5

https://dl.doubtnut.com/l/_4Fj7PHvrPmx0
https://dl.doubtnut.com/l/_AEeBUYqBYzTa
https://dl.doubtnut.com/l/_xj5e2pMr3mYL


11. Find the factors of the following

polynominals. 

(ii) .

Watch Video Solution

2m2 − 5m

12. Find the factors of the following

polynominals. 

(iii) .

Watch Video Solution

a2 − 25

https://dl.doubtnut.com/l/_xj5e2pMr3mYL
https://dl.doubtnut.com/l/_ywBMckW6oKm5
https://dl.doubtnut.com/l/_mIZAlsicif9c


13. Solve  by factorisation

method.

Watch Video Solution

x2 − 9x + 20 = 0

14. Solve : .

Watch Video Solution

4x2 + 5x + 1 = 0

https://dl.doubtnut.com/l/_mIZAlsicif9c
https://dl.doubtnut.com/l/_W9wcJVnugFh2
https://dl.doubtnut.com/l/_CuawY7S0S1ve


15. Determine nature of roots of the quadratic

equation : .

Watch Video Solution

x2 + 2x − 9 = 0

16. If sum of the roots of quadratic equations

is 10 and the product is 9, then form the

quadratic equation:

Watch Video Solution

https://dl.doubtnut.com/l/_8XF8WajOFkq5
https://dl.doubtnut.com/l/_gWNBg1XD1dvK


17. What will be the quadratic equation if

.

Watch Video Solution

α = 2, β = 5

18. The product of two consecutive natural

number is 240. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_RPchCIbot2VZ
https://dl.doubtnut.com/l/_xfjqPNVm08YD


19. Classify the following polynominals as

linear and quadratic: 

(i)  (Ii)  


(iii)  (iv) 3x^(2)-5x 5x^2`

Watch Video Solution

5x + 9 x2 + 3x − 5

3x − 7 (v)

20. , Write the

polyniminals in the index form. Observe the

coefficients and fill in the boxes.

Watch Video Solution

x2 + 3x − 5, 3x2 − 5x, 5x2

https://dl.doubtnut.com/l/_NUUpUUgClHhY
https://dl.doubtnut.com/l/_m7UrPkRPwoh4


21. Complete the following table: 

Watch Video Solution

22. Decided which of the following are

quadratic equations ? 

(i) .

Watch Video Solution

9y2 + 5 = 0

https://dl.doubtnut.com/l/_m7UrPkRPwoh4
https://dl.doubtnut.com/l/_8YkJaJt0CcCj
https://dl.doubtnut.com/l/_JMNAHq5cYQPm


23. Decided which of the following are

quadratic equations ? 

(ii) 

Watch Video Solution

m3 − 5m2 + 4 = 0

24. Decided which of the following are

quadratic equations ? 

(iii) 

Watch Video Solution

(l + 2)(l − 5) = 0

https://dl.doubtnut.com/l/_JMNAHq5cYQPm
https://dl.doubtnut.com/l/_TuZKQ5L39K6W
https://dl.doubtnut.com/l/_XKz0IxaIUJz4


25. For the quadratic equation

 check whether 


(i)  


are roots or not?

Watch Video Solution

2x2 − x − 10 = 0

x = − 2

26. For the quadratic equation

 check whether 


(ii)  


are roots or not?

2x2 − x − 10 = 0

x =
−5

2

https://dl.doubtnut.com/l/_XKz0IxaIUJz4
https://dl.doubtnut.com/l/_OhNCvlLVqjcC
https://dl.doubtnut.com/l/_SzQvdiqToOm9


Watch Video Solution

27. If  is a root of equation 

, then find the value of k

by completing the following activity.

Watch Video Solution

x = 5

kx2 = 14x − 5 = 0

28. Find the factors of the following

polynominals. 

(i)  .x2 − 4x − 5

https://dl.doubtnut.com/l/_SzQvdiqToOm9
https://dl.doubtnut.com/l/_tsPJaI8MzYWg
https://dl.doubtnut.com/l/_AErSEyKGyTif


Watch Video Solution

29. Find the factors of the following

polynominals. 

(ii) .

Watch Video Solution

2m2 − 5m

30. Find the factors of the following

polynominals. 

(iii) .

Watch Video Solution

a2 − 25

https://dl.doubtnut.com/l/_AErSEyKGyTif
https://dl.doubtnut.com/l/_vTbNaJ7OYknS
https://dl.doubtnut.com/l/_1rsFmUopLbzi


31. Solve  by factorisation

method.

Watch Video Solution

x2 − 9x + 20 = 0

32. Solve : .

Watch Video Solution

4x2 + 5x + 1 = 0

https://dl.doubtnut.com/l/_1rsFmUopLbzi
https://dl.doubtnut.com/l/_2NWRNtwwwRiq
https://dl.doubtnut.com/l/_qnc2XDoXrd5N


33. Determine nature of roots of the quadratic

equation : .

Watch Video Solution

x2 + 2x − 9 = 0

34. Write the quadratic equation if addition of

the roots is 10 and product of the roots is 9.

Watch Video Solution

https://dl.doubtnut.com/l/_ZtejIIR5IE7h
https://dl.doubtnut.com/l/_RONIIFCzU6DG


Try This

35. What will be the quadratic equation if

.

Watch Video Solution

α = 2, β = 5

36. The product of two consecutive natural

number is 240. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_MCmO9dLqMRoK
https://dl.doubtnut.com/l/_LxNT9Em9ewQX
https://dl.doubtnut.com/l/_RJpS8v8fRWGO


1. Solve the equation  by

factorisation method, by completing the

square mathod and by using the formula.

Verify that you will get the same roots every

time.

Watch Video Solution

2x2 + 13x + 15 = 0

2. Solve the equation  by

factorisation method, by completing the

square mathod and by using the formula.

2x2 + 13x + 15 = 0

https://dl.doubtnut.com/l/_RJpS8v8fRWGO
https://dl.doubtnut.com/l/_sOfllrqvIQU6


Practice Set 2 1

Verify that you will get the same roots every

time.

Watch Video Solution

1. Write any two quadratic equations.

Watch Video Solution

https://dl.doubtnut.com/l/_sOfllrqvIQU6
https://dl.doubtnut.com/l/_6R7GSg9F4n8A


2. Decide which of the following are quadratic

equations : 

Watch Video Solution

x2 + 5x − 2 = 0

3. Decide which of the following are quadratic

equations : 

Watch Video Solution

y2 = 5y − 10

https://dl.doubtnut.com/l/_85JhL9XbDt0B
https://dl.doubtnut.com/l/_fWYsM32ZEN9M
https://dl.doubtnut.com/l/_BOWeuvdFehNb


4. Decide which of the following are quadratic

equations : 

Watch Video Solution

y2 + = 2
1

y

5. Decide which of the following are quadratic

equations : 

Watch Video Solution

x + = − 2
1

x

https://dl.doubtnut.com/l/_BOWeuvdFehNb
https://dl.doubtnut.com/l/_w4rXQrqFK76X
https://dl.doubtnut.com/l/_uiZkuPlylswZ


6. Decide which of the following are quadratic

equations : 

Watch Video Solution

(m + 2)(m − 5) = 0

7. Decide which of the following are quadratic

equations : 

Watch Video Solution

m3 + 3m2 − 2 = 3m3

https://dl.doubtnut.com/l/_uiZkuPlylswZ
https://dl.doubtnut.com/l/_gx97k8bF5F0z


8. Write the following equatratic equations in

the form . Write the value of

a, b, c, for each equation. 

Watch Video Solution

ax2 + bx + c = 0

2y = 10 − y2

9. Write the following equations in the form of

, then write the values of

a,b,c for each equation. 

ax2 + bx + x = 0

(x − 1)2 = 2x + 3

https://dl.doubtnut.com/l/_PEMYfiDFyWR3
https://dl.doubtnut.com/l/_dkSm41WdQvO6


Watch Video Solution

10. Write the following equations in the form

of , then write the values of

a,b,c for each equation. 

Watch Video Solution

ax2 + bx + x = 0

x2 + 5x = − (3 − x)

11. Write the following equatratic equations in

the form . Write the value ofax2 + bx + c = 0

https://dl.doubtnut.com/l/_dkSm41WdQvO6
https://dl.doubtnut.com/l/_DN186neG2fah
https://dl.doubtnut.com/l/_OWX7nc226giH


a, b, c, for each equation. 

Watch Video Solution

3m2 = 2m2 − 9

12. Write the following equatratic equations in

the form . Write the value of

a, b, c, for each equation. 

Watch Video Solution

ax2 + bx + c = 0

p(3 + 6p) = − 5

https://dl.doubtnut.com/l/_OWX7nc226giH
https://dl.doubtnut.com/l/_bEl8IFUJPF8Q


13. Write the following equatratic equations in

the form . Write the value of

a, b, c, for each equation. 

Watch Video Solution

ax2 + bx + c = 0

x2 − 9 = 13

14. Determine whether the values given

against each of the quadratic equations are

the roots of the quadratic equation or not : 

x2 + 4x − 5 = 0, x = 1, − 1

https://dl.doubtnut.com/l/_PzAOLBUzh24h
https://dl.doubtnut.com/l/_GYxYKBnorXGA


Watch Video Solution

15. Determine wheter the value given against

each of the quadratic equation are the roots

of the equation. 

(ii) .

Watch Video Solution

2m2 − 5m = 0, m = 2,
5

2

16. Find k if x=3 is a root of equation

.

Watch Video Solution

kx2 − 10x + 3 = 0

https://dl.doubtnut.com/l/_GYxYKBnorXGA
https://dl.doubtnut.com/l/_5vnZ7Am6Y6Z5
https://dl.doubtnut.com/l/_hiVm8Ge3JpcL


17. One of the roots of equation

 is . Complete the

following activity to find the value of 'k'.

Watch Video Solution

5m2 + 2m + k = 0 −
7
5

18. Write any two quadratic equations.

Watch Video Solution

https://dl.doubtnut.com/l/_hiVm8Ge3JpcL
https://dl.doubtnut.com/l/_r5ZndwRaMWNe
https://dl.doubtnut.com/l/_iZBWVbJlTDcl


19. Decide which of the following are quadratic

equations : 

Watch Video Solution

x2 + 5x − 2 = 0

20. Decide which of the following are

quadratic equations : 

Watch Video Solution

y2 = 5y − 10

https://dl.doubtnut.com/l/_dV1B46PayKzr
https://dl.doubtnut.com/l/_aHZryDJjqASs
https://dl.doubtnut.com/l/_bjhYq53HMgt1


21. Decide which of the following are quadratic

equations : 

Watch Video Solution

y2 + = 2
1

y

22. Decide which of the following are quadratic

equations : 

Watch Video Solution

x + = − 2
1

x

https://dl.doubtnut.com/l/_bjhYq53HMgt1
https://dl.doubtnut.com/l/_4qprmMb9rbfO
https://dl.doubtnut.com/l/_Hs2F6ip9LrCz


23. Decide which of the following are quadratic

equations : 

Watch Video Solution

(m + 2)(m − 5) = 0

24. Decide which of the following are quadratic

equations : 

Watch Video Solution

m3 + 3m2 − 2 = 3m3

https://dl.doubtnut.com/l/_Hs2F6ip9LrCz
https://dl.doubtnut.com/l/_MUVC52DxnKW3


25. Write the following equations in the form

, then write the value of a,

b,c for each equation. 

(i) .

Watch Video Solution

ax2 + bx + c = 0

2y = 10 − y2

26. Write the following equations in the form

of , then write the values of

a,b,c for each equation. 

ax2 + bx + x = 0

(x − 1)2 = 2x + 3

https://dl.doubtnut.com/l/_QDz6PW5ok9RB
https://dl.doubtnut.com/l/_Xii5SBzWlqb8


Watch Video Solution

27. Write the following equations in the form

of , then write the values of

a,b,c for each equation. 

Watch Video Solution

ax2 + bx + x = 0

x2 + 5x = − (3 − x)

28. Write the following equations in the form

, then write the value of a,ax2 + bx + c = 0

https://dl.doubtnut.com/l/_Xii5SBzWlqb8
https://dl.doubtnut.com/l/_byGq45RngcDv
https://dl.doubtnut.com/l/_kB0IjmQbuvRM


b,c for each equation. 

(iv)

Watch Video Solution

3m2 = 2m2 − 9

29. Write the following equatratic equations in

the form . Write the value of

a, b, c, for each equation. 

Watch Video Solution

ax2 + bx + c = 0

p(3 + 6p) = − 5

https://dl.doubtnut.com/l/_kB0IjmQbuvRM
https://dl.doubtnut.com/l/_g3Aq8SGjlA7j


30. Write the following equations in the form

, then write the value of a,

b,c for each equation. 

(vi) 

Watch Video Solution

ax2 + bx + c = 0

x2 − 9 = 13

31. Determine whether the values given

against each of the quadratic equations are

the roots of the quadratic equation or not : 

x2 + 4x − 5 = 0, x = 1, − 1

https://dl.doubtnut.com/l/_ztROrtvgttZS
https://dl.doubtnut.com/l/_f4g8ciIi2E7c


Watch Video Solution

32. Determine wheter the value given against

each of the quadratic equation are the roots

of the equation. 

(ii) .

Watch Video Solution

2m2 − 5m = 0, m = 2,
5

2

33. Find k if x=3 is a root of equation

.

Watch Video Solution

kx2 − 10x + 3 = 0

https://dl.doubtnut.com/l/_f4g8ciIi2E7c
https://dl.doubtnut.com/l/_FEOp8noxY73c
https://dl.doubtnut.com/l/_ErfbO4QXt6rw


Practice Set 2 2

34. One of the roots of equation

 is . Complete the

following activity to find the value of 'k'.

Watch Video Solution

5m2 + 2m + k = 0 −
7
5

1. Solve the following quadratic equations by

factorization. 

https://dl.doubtnut.com/l/_ErfbO4QXt6rw
https://dl.doubtnut.com/l/_5R3DbpRLp7rG
https://dl.doubtnut.com/l/_kj4oOhMccQVB


Watch Video Solution

x2 − 15x + 54 = 0

2. Solve the following quadratic equations by

factorisation method: 

Watch Video Solution

x2 + x − 20 = 0

3. Solve the following quadratic equations by

factorisation method: 

https://dl.doubtnut.com/l/_kj4oOhMccQVB
https://dl.doubtnut.com/l/_dMngacSC4Mar
https://dl.doubtnut.com/l/_lYyKnsQ4KvOV


Watch Video Solution

2y2 + 27 + 13 = 0

4. Solve the following quadratic equations by

factorization. 

Watch Video Solution

5m2 = 22m + 15

5. Solve the following quadratic equations by

factorization. 

https://dl.doubtnut.com/l/_lYyKnsQ4KvOV
https://dl.doubtnut.com/l/_V2P5GZ8HkhTT
https://dl.doubtnut.com/l/_e5j26RrBJUS5


Watch Video Solution

2x2 − 2x + = 0
1

2

6. Solve the following quadratic equations by

factorisation method: 

Watch Video Solution

6x − = 1
2

x

7. Complete the following activity to sovle the

quadratic equation  by√2x3 + 7x + 5√2 = 0

https://dl.doubtnut.com/l/_e5j26RrBJUS5
https://dl.doubtnut.com/l/_cHqxvAj29Y9r
https://dl.doubtnut.com/l/_2adFmwrxWqIf


factorisation method : 

Watch Video Solution

8. Solve the following quadratic equations by

factorization. 

Watch Video Solution

3x2 − 2√6x + 2 = 0

9. Solve the following quadratic equations by

factorization. 

https://dl.doubtnut.com/l/_2adFmwrxWqIf
https://dl.doubtnut.com/l/_PQ5otUPSwWzR
https://dl.doubtnut.com/l/_xpgVlzClciSv


2m(m-24)=50

Watch Video Solution

10. Complete the following activity to sovle the

quadratic equation  by

factorisation method : 

Watch Video Solution

√2x3 + 7x + 5√2 = 0

25m2 = 9

https://dl.doubtnut.com/l/_xpgVlzClciSv
https://dl.doubtnut.com/l/_V5sSw0pvzd5l


11. Solve the following quadratic equations by

factorization. 

Watch Video Solution

7m2 = 21m

12. Solve the following quadratic equation by

factorisation. 

(xii) .

Watch Video Solution

m2 − 11 = 0

https://dl.doubtnut.com/l/_FKIZ45n5qlHd
https://dl.doubtnut.com/l/_ZMkLgLOTpgTh
https://dl.doubtnut.com/l/_yUGteOfYU4ZO


13. Solve the following quadratic equations by

factorization. 

Watch Video Solution

x2 − 15x + 54 = 0

14. Solve the following quadratic equations by

factorisation method: 

Watch Video Solution

x2 + x − 20 = 0

https://dl.doubtnut.com/l/_yUGteOfYU4ZO
https://dl.doubtnut.com/l/_uIJqqXb4NkRy
https://dl.doubtnut.com/l/_IIN2QHRJkew7


15. Solve the following quadratic equations by

factorization. 

Watch Video Solution

2y2 + 27y + 13 = 0

16. Solve the following quadratic equations by

factorization. 

Watch Video Solution

5m2 = 22m + 15

https://dl.doubtnut.com/l/_IIN2QHRJkew7
https://dl.doubtnut.com/l/_NEbkztGANaYI


17. Solve the following quadratic equations by

factorization. 

Watch Video Solution

2x2 − 2x + = 0
1

2

18. Solve the following quadratic equations by

factorisation method: 

Watch Video Solution

6x − = 1
2

x

https://dl.doubtnut.com/l/_TlLtSn05402O
https://dl.doubtnut.com/l/_0zd0sBBowizK
https://dl.doubtnut.com/l/_UZUzIf7ksIza


19. Complete the following activity to sovle the

quadratic equation  by

factorisation method : 

Watch Video Solution

√2x3 + 7x + 5√2 = 0

20. Solve the following quadratic equations by

factorization. 

Watch Video Solution

3x2 − 2√6x + 2 = 0

https://dl.doubtnut.com/l/_UZUzIf7ksIza
https://dl.doubtnut.com/l/_9nj3oMye4acV
https://dl.doubtnut.com/l/_3vTgADDOzyH5


21. Solve the following quadratic equations by

factorization. 

2m(m-24)=50

Watch Video Solution

22. Complete the following activity to sovle the

quadratic equation  by

factorisation method : 

Watch Video Solution

√2x3 + 7x + 5√2 = 0

25m2 = 9

https://dl.doubtnut.com/l/_3vTgADDOzyH5
https://dl.doubtnut.com/l/_UNZ0N72b7rUh
https://dl.doubtnut.com/l/_BUfpmYSDhCN1


23. Solve the following quadratic equations by

factorization. 

Watch Video Solution

7m2 = 21m

24. Solve the following quadratic equation by

factorisation. 

(xii) .

Watch Video Solution

m2 − 11 = 0

https://dl.doubtnut.com/l/_BUfpmYSDhCN1
https://dl.doubtnut.com/l/_858Oxs74xC62


Practice Set 2 3

1. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

x2 + x − 20 = 0

2. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

x2 + 2x − 5 = 0

https://dl.doubtnut.com/l/_58IFUrs4haPH
https://dl.doubtnut.com/l/_nPgUJHQsqvoc


3. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

m2 − 5m = − 3

4. Solve the following quadratic equations by

completing the square method. 

Watch Video Solution

9y2 − 12y + 2 = 0

https://dl.doubtnut.com/l/_nPgUJHQsqvoc
https://dl.doubtnut.com/l/_i0gyJPj8PEx5
https://dl.doubtnut.com/l/_wzQK4r1Z9Bqt


5. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

2y2 + 9y + 10 = 0

6. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

5x2 = 4x + 7

https://dl.doubtnut.com/l/_wzQK4r1Z9Bqt
https://dl.doubtnut.com/l/_0ANfIHIsOe30
https://dl.doubtnut.com/l/_3GCGJrs4Z3ZK


7. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

x2 + x − 20 = 0

8. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

x2 + 2x − 5 = 0

https://dl.doubtnut.com/l/_3GCGJrs4Z3ZK
https://dl.doubtnut.com/l/_Q8EsSMdlAhRn
https://dl.doubtnut.com/l/_MfUSBBUXUPWz


9. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

m2 − 5m = − 3

10. Solve the following quadratic equations by

completing the square method. 

Watch Video Solution

9y2 − 12y + 2 = 0

https://dl.doubtnut.com/l/_LiD84kqXEVbB
https://dl.doubtnut.com/l/_LXfhN2rG9B51
https://dl.doubtnut.com/l/_EgK6DqhthHrY


11. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

2y2 + 9y + 10 = 0

12. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

5x2 = 4x + 7

https://dl.doubtnut.com/l/_EgK6DqhthHrY
https://dl.doubtnut.com/l/_enuYqXRTLFqJ


Practice Set 2 4

1. Find the values of a,b,c for the following

quadratic equations by comparing with

standard form : 

Watch Video Solution

x2 − 7x + 5 = 0

2. Find the values of a,b,c for the following

quadratic equations by comparing with

https://dl.doubtnut.com/l/_URuBkF0SVuAZ
https://dl.doubtnut.com/l/_8QNk0PP4LKzz


standard form : 

Watch Video Solution

2m2 = 5m − 5

3. Compare the given quadratic equation t the

general form and write value of a,b,c 

(iii) .

Watch Video Solution

y2 = 7

https://dl.doubtnut.com/l/_8QNk0PP4LKzz
https://dl.doubtnut.com/l/_NujIGh6MspvV


4. Solve using formula. 

Watch Video Solution

x2 + 6x + 5 = 0

5. Solve the following quadratic equations by

using formula method : 

Watch Video Solution

x2 − 3x − 2 = 0

https://dl.doubtnut.com/l/_jDpch1QtaFaN
https://dl.doubtnut.com/l/_nInuQ0sWGgXL


6. Solve the following quadratic equations by

using formula method : 

Watch Video Solution

3m2 + 2m − 7 = 0

7. Solve the following quadratic equations by

using formula method : 

Watch Video Solution

5m2 − 4m − 2 = 0

https://dl.doubtnut.com/l/_41rdYjhjk8xN
https://dl.doubtnut.com/l/_gDVjznWfn3WC
https://dl.doubtnut.com/l/_mEf935H3t5Xw


8. Solve the following quadratic equations by

using formula method : 

Watch Video Solution

y2 + y = 2
1

3

9. Find the roots of the quadratic equations by

using the quadratic formula in each of the

following 

Watch Video Solution

5x2 + 13x + 8 = 0

https://dl.doubtnut.com/l/_mEf935H3t5Xw
https://dl.doubtnut.com/l/_lgSwkybhjoA0


10. With the help of the flow chart given below

solve the equation  using

formula. 

Watch Video Solution

x2 + 2√3x + 3 = 0

11. Compare the given quadratic equation t the

general form and write value of a,b,c 

(i) x2 − 7x + 5 = 0

https://dl.doubtnut.com/l/_b0hDlSOTbmwO
https://dl.doubtnut.com/l/_FanMq5WEVT1F


Watch Video Solution

12. Compare the given quadratic equation t

the general form and write value of a,b,c 

(ii) .

Watch Video Solution

2m2 = 5m − 5

13. Compare the given quadratic equation t

the general form and write value of a,b,c 

(iii) .y2 = 7

https://dl.doubtnut.com/l/_FanMq5WEVT1F
https://dl.doubtnut.com/l/_FGPyBlSrGKrk
https://dl.doubtnut.com/l/_is6JeDdSNXr2


Watch Video Solution

14. Solve using formula. 

Watch Video Solution

x2 + 6x + 5 = 0

15. Solve the following quadratic equations by

using formula method : 

Watch Video Solution

x2 − 3x − 2 = 0

https://dl.doubtnut.com/l/_is6JeDdSNXr2
https://dl.doubtnut.com/l/_YpSP9XdgCl5z
https://dl.doubtnut.com/l/_31nYxUtcMgme


16. Solve the following quadratic equations by

using formula method : 

Watch Video Solution

3m2 + 2m − 7 = 0

17. Solve the following quadratic equations by

using formula method : 

Watch Video Solution

5m2 − 4m − 2 = 0

https://dl.doubtnut.com/l/_hyyEkkIoF4D5
https://dl.doubtnut.com/l/_OJWTxXV1PlOY
https://dl.doubtnut.com/l/_mtRUQlQS3po3


18. Solve the following quadratic equations by

using formula method : 

Watch Video Solution

y2 + y = 2
1

3

19. Find the roots of the quadratic equations

by using the quadratic formula in each of the

following 

Watch Video Solution

5x2 + 13x + 8 = 0

https://dl.doubtnut.com/l/_mtRUQlQS3po3
https://dl.doubtnut.com/l/_EAv9A1u1NbUt


Practice Set 2 5

20. With the help of the flow chart given below

solve the equation  using

formula. 

Watch Video Solution

x2 + 2√3x + 3 = 0

https://dl.doubtnut.com/l/_pYlRa9NBPuQc


1. Fill in the gaps and complete. 

(i) 

Watch Video Solution

2. Fill in the gaps and complete. 

(ii) 

Watch Video Solution

https://dl.doubtnut.com/l/_P1ygmp8kyNj9
https://dl.doubtnut.com/l/_YoqKJcn7TpwN


3. Fill in the gaps and complete. 

(iii) 

Watch Video Solution

4. Find the value of discriminant. 

Watch Video Solution

x2 + 7x − 1 = 0

https://dl.doubtnut.com/l/_YoqKJcn7TpwN
https://dl.doubtnut.com/l/_mTlH64IBD6po
https://dl.doubtnut.com/l/_Fiw9Q2LUXvUm
https://dl.doubtnut.com/l/_JBcRhLcyNhFm


5. Find the value of discriminant. 

Watch Video Solution

2y2 − 5y + 10 = 0

6. Find the value of discriminant. 

Watch Video Solution

√2x2 + 4x + 2√2 = 0

https://dl.doubtnut.com/l/_JBcRhLcyNhFm
https://dl.doubtnut.com/l/_FKP3ERCZRCfJ


7. Determine the nature of roots of the

following quadratic equations. 

Watch Video Solution

x2 − 4x + 4 = 0

8. Determine the nature of roots of the

following quadratic equations. 

Watch Video Solution

2y2 − 7y + 2 = 0

https://dl.doubtnut.com/l/_yjaxvCqhYX0M
https://dl.doubtnut.com/l/_lFwrnmOwHdoL
https://dl.doubtnut.com/l/_3jWTNAhyYQFY


9. Determine the nature of roots of the

following quadratic equations. 

Watch Video Solution

m2 + 2m + 9 = 0

10. Form the quadratic equation from the

roots given below. 

0 and 4

Watch Video Solution

https://dl.doubtnut.com/l/_3jWTNAhyYQFY
https://dl.doubtnut.com/l/_hQ063Ce48YoM
https://dl.doubtnut.com/l/_BoEwb1rWKce1


11. Form the quadratic equation from the

roots given below. 

3 and -10

Watch Video Solution

12. Form the quadratic equation from the

roots given below. 

 and 

Watch Video Solution

1

2

−1

2

https://dl.doubtnut.com/l/_BoEwb1rWKce1
https://dl.doubtnut.com/l/_AlLr6ldclECL


13. Form the quadratic equation from the

roots given below. 

 and 

Watch Video Solution

2 − √5 2 + √5

14. Sum of the roots of a quadratic equation is

double their product. Find k if equation is

.

Watch Video Solution

x2 − 4kx + k + 3 = 0

https://dl.doubtnut.com/l/_Sq7k7dc0zAH9
https://dl.doubtnut.com/l/_JfiQjQ6oc7HS
https://dl.doubtnut.com/l/_u1bzUzlVgHKq


15.  are roots of  find, 


(i) 

Watch Video Solution

α, β y2 − 2y − 7 = 0

α2 + β2           (ii) α3 + β3

16.  are roots of  find, 


(i) 

Watch Video Solution

α, β y2 − 2y − 7 = 0

α2 + β2           (ii) α3 + β3

https://dl.doubtnut.com/l/_u1bzUzlVgHKq
https://dl.doubtnut.com/l/_EFnH8OWUMfTZ


17. The roots of the each of the following

quadratic equations are real and equal, find k. 

Watch Video Solution

3y2 + ky + 12 = 0

18. For what value of k, are the roots of the

quadratic equation kx (x-2) +6 = 0
equal ?

Watch Video Solution

https://dl.doubtnut.com/l/_9r7Acl71vvJO
https://dl.doubtnut.com/l/_dQpnroCmj4V0


19. Fill in the gaps and complete. 

(i) 

Watch Video Solution

20. Fill in the gaps and complete. 

(ii) 

Watch Video Solution

https://dl.doubtnut.com/l/_tzn2rZUgvDam
https://dl.doubtnut.com/l/_ahYVHo8MApCn


21. Fill in the gaps and complete. 

(iii) 

Watch Video Solution

22. Find the value of discriminant. 

Watch Video Solution

x2 + 7x − 1 = 0

https://dl.doubtnut.com/l/_ahYVHo8MApCn
https://dl.doubtnut.com/l/_oeWqEiAWCfsb
https://dl.doubtnut.com/l/_rjS6JEYVPlfQ
https://dl.doubtnut.com/l/_Z6QDy20Wu2MA


23. Find the value of discriminant. 

Watch Video Solution

2y2 − 5y + 10 = 0

24. Find the value of discriminant. 

Watch Video Solution

√2x2 + 4x + 2√2 = 0

https://dl.doubtnut.com/l/_Z6QDy20Wu2MA
https://dl.doubtnut.com/l/_d4DpBRtPQZc8


25. Determine the nature of roots of the

following quadratic equations. 

Watch Video Solution

x2 − 4x + 4 = 0

26. Determine the nature of roots of the

following quadratic equations. 

Watch Video Solution

2y2 − 7y + 2 = 0

https://dl.doubtnut.com/l/_r1bXmMOChzA4
https://dl.doubtnut.com/l/_1A44KX1pQEoV
https://dl.doubtnut.com/l/_rw71VhUbFLyP


27. Determine the nature of roots of the

following quadratic equations. 

Watch Video Solution

m2 + 2m + 9 = 0

28. Form the quadratic equation from the

roots given below. 

0 and 4

Watch Video Solution

https://dl.doubtnut.com/l/_rw71VhUbFLyP
https://dl.doubtnut.com/l/_vUPF3ie7CKBg
https://dl.doubtnut.com/l/_4WxguhNV8oK9


29. Form the quadratic equation from the

roots given below. 

3 and -10

Watch Video Solution

30. Form the quadratic equation from the

roots given below. 

 and 

Watch Video Solution

1

2

−1

2

https://dl.doubtnut.com/l/_4WxguhNV8oK9
https://dl.doubtnut.com/l/_MFdOTxMqKrO7


31. Form the quadratic equation from the

roots given below. 

 and 

Watch Video Solution

2 − √5 2 + √5

32. Sum of the roots of a quadratic equation is

double their product. Find k if equation is

.

Watch Video Solution

x2 − 4kx + k + 3 = 0

https://dl.doubtnut.com/l/_HMFJNOjVBqZA
https://dl.doubtnut.com/l/_F565EDIY4h2M
https://dl.doubtnut.com/l/_kQoRs2vyMxQJ


33.  are roots of  find, 


(i) 

Watch Video Solution

α, β y2 − 2y − 7 = 0

α2 + β2           (ii) α3 + β3

34.  are roots of  find, 


(i) 

Watch Video Solution

α, β y2 − 2y − 7 = 0

α2 + β2           (ii) α3 + β3

https://dl.doubtnut.com/l/_kQoRs2vyMxQJ
https://dl.doubtnut.com/l/_lGQTfWE4kWmF


35. The roots of the each of the following

quadratic equations are real and equal, find k. 

Watch Video Solution

3y2 + ky + 12 = 0

36. The roots of each of the following

quadratic equation are real and equal , find k. 

(ii) .

Watch Video Solution

kx(x − 2) + 6 = 0

https://dl.doubtnut.com/l/_Kqz6wqatRy82
https://dl.doubtnut.com/l/_Q457tDA8h88F


Practice Set 2 6

1. Product of Pragati's age 2 years ago and 3

years hence is 84. Find her present age.

Watch Video Solution

2. The sum of squares of two consecutive even

natural number is 244. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_Ozi0AiZLCOiW
https://dl.doubtnut.com/l/_w9mQaRSSxVhB
https://dl.doubtnut.com/l/_O5D0U8twehyR


3. In the orange garden of Mr.Madhusudan

there are 150 orange trees. The number of tree

in each row is 5 more than that in each

column. Find the number of trees in each row

and each column with the help of following

flow chart. 

Watch Video Solution

https://dl.doubtnut.com/l/_O5D0U8twehyR


4. Vivek is older than Kishor by 5 years. The

sum of the reciprocals of their ages is . Find

their present age.

Watch Video Solution

1

6

5. Suyash scored 10 marks more in second test

than that in first. 5 times the score of the

second test is same as square of the score in

first test. Find his score in first test.

https://dl.doubtnut.com/l/_O5D0U8twehyR
https://dl.doubtnut.com/l/_hiNwrjY9jNnK
https://dl.doubtnut.com/l/_TctCGYIrRmHC


Watch Video Solution

6. Mr. Kasam runs a small business of making

earthen pots. He makes certain number of

pots on daily basis. Production cost of each

pot is Rs. 40 more than 10 times total number

of pots, he makes in one day. If production

cost of all pots per day is Rs. 600, find

production cost of one pot and number of

pots he makes per day.

Watch Video Solution

https://dl.doubtnut.com/l/_TctCGYIrRmHC
https://dl.doubtnut.com/l/_PeiN1vNaW104


7. Pratik takes 8 hours to travel 36 km

downstream and return to the same spot.The

speed of boat in still water is 12 km. Per hour.

Find the speed of water current.

Watch Video Solution

8. Pintu takes 6 days more than those of Nishu

to complete certain work. If they work togeter

they finish it in 4 days. How many days would

https://dl.doubtnut.com/l/_Dp2dyqSwkwbT
https://dl.doubtnut.com/l/_Rs9kqHcFNZae


it take to complete the work if they work

alone.

Watch Video Solution

9. If 460 is divided by a natural number,

quotient is 6 more than 5 times the divisor

and remainder is 1 then find quotient and

divisor.

Watch Video Solution

https://dl.doubtnut.com/l/_Rs9kqHcFNZae
https://dl.doubtnut.com/l/_Im2xXvKDFyPV


10. In the given fig square ABCD is a trapezium

 and its area is . From the

information given in the figure find the

lengths of all sides of the squareABCD. Fill in

the empty boxes to get the solution. 

Watch Video Solution

AB ∣ ∣ CD 33cm2

https://dl.doubtnut.com/l/_OwxAdwQ4xXev


11. Product of Pragati's age 2 years ago and 3

years hence is 84. Find her present age.

Watch Video Solution

12. The sum of squares of two consecutive

even natural number is 244. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_3h0WWBOU1K0o
https://dl.doubtnut.com/l/_CHRfGv3H16it


13. In the orange garden of Mr.Madhusudan

there are 150 orange trees. The number of tree

in each row is 5 more than that in each

column. Find the number of trees in each row

and each column with the help of following

flow chart. 

https://dl.doubtnut.com/l/_e8aLUt1hFDUD


Watch Video Solution

14. Vivek is older than Kishor by 5 years. The

sum of the reciprocals of their ages is . Find

their present age.

Watch Video Solution

1

6

15. Suyash scored 10 marks more in second

test than that in first. 5 times the score of the

second test is same as square of the score in

first test. Find his score in first test.

https://dl.doubtnut.com/l/_e8aLUt1hFDUD
https://dl.doubtnut.com/l/_MG84EXjlXWET
https://dl.doubtnut.com/l/_l0nDmk1IP8mO


Watch Video Solution

16. Mr. Kasam runs a small business of making

earthen pots. He makes certain number of

pots on daily basis. Production cost of each

pot is Rs. 40 more than 10 times total number

of pots, he makes in one day. If production

cost of all pots per day is Rs. 600, find

production cost of one pot and number of

pots he makes per day.

Watch Video Solution

https://dl.doubtnut.com/l/_l0nDmk1IP8mO
https://dl.doubtnut.com/l/_k4hdU8ew2jVr


17. Pratik takes 8 hours to travel 36 km

downstream and return to the same spot.The

speed of boat in still water is 12 km. Per hour.

Find the speed of water current.

Watch Video Solution

18. Pintu takes 6 days more than those of

Nishu to complete certain work. If they work

togeter they finish it in 4 days. How many days

https://dl.doubtnut.com/l/_6HmolXymEEZQ
https://dl.doubtnut.com/l/_nYVsUovoGM11


would it take to complete the work if they

work alone.

Watch Video Solution

19. If 460 is divided by a natural number,

quotient is 6 more than 5 times the divisor

and remainder is 1 then find quotient and

divisor.

Watch Video Solution

https://dl.doubtnut.com/l/_nYVsUovoGM11
https://dl.doubtnut.com/l/_8Wv92nZma8uX


20. In the given fig square ABCD is a trapezium

 and its area is . From the

information given in the figure find the

lengths of all sides of the squareABCD. Fill in

the empty boxes to get the solution. 

Watch Video Solution

AB ∣ ∣ CD 33cm2

https://dl.doubtnut.com/l/_fNuKnVWhh1se


Probelm Set 2

1. Which one is the quadratic equation?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

− 3 = x25

x

x(x + 5) = 2

n − 1 = 2n

(x + 2) = x
1

x2

https://dl.doubtnut.com/l/_dFxt1AjuAuw9


2. Out of the following equations which one is

not a quadratic equation ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + 4x = 11 + x2

x2 = 4x

5x2 = 90

2x − x2 = x2 + 5

https://dl.doubtnut.com/l/_s885rsmSFIl0
https://dl.doubtnut.com/l/_KcnJOKHrajNU


3. The roots of  are real and

equal, find k.

A. 0

B. 4

C. 0 or 4

D. 2

Answer: C

Watch Video Solution

x2 + kx + k = 0

https://dl.doubtnut.com/l/_KcnJOKHrajNU


4. Which of the following is the value of the

discriminant for 

A. -5

B. 17

C. 

D. 

Answer: B

Watch Video Solution

√2x2 − 5x + √2 = 0?

√17

2√2 − 5

https://dl.doubtnut.com/l/_O2B3frmrChnX
https://dl.doubtnut.com/l/_pAG4gMbs78AW


5. Which of the following quadratic equations

has roots 3,5 ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 15x + 8 = 0

x2 − 8x + 15 = 0

x2 + 3x + 5 = 0

x2 + 8x − 15 = 0

https://dl.doubtnut.com/l/_pAG4gMbs78AW


6. Choose the correct answer for the following

questions. 

(vi) Out of the following equations, find the

equation having the sum of its roots -5.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x2 − 15x + 3 = 0

x2 − 5x + 3 = 0

x2 + 3x − 5 = 0

3x2 + 15x + 3 = 0

https://dl.doubtnut.com/l/_0n9ohWrImz4O


Watch Video Solution

7.  which of the

following statement is true for this given

equation ?

A. Real and unequal roots

B. Real and equal roots

C. Roots and not real

D. Three roots

Answer: C

√5m2 − √5m + √5 = 0

https://dl.doubtnut.com/l/_0n9ohWrImz4O
https://dl.doubtnut.com/l/_SFIJ8ZOA9yAB


Watch Video Solution

8. One of the roots of equation

 is 2 find m.

A. -2

B. 

C. 

D. 2

Answer: C

Watch Video Solution

x2 + mx − 5 = 0

−
1

2

1

2

https://dl.doubtnut.com/l/_SFIJ8ZOA9yAB
https://dl.doubtnut.com/l/_dxChunfiaYut


9. Which of the following are quadratic

equations? 

Watch Video Solution

x2 + 2x + 11 = 0

10. Which of the following are quadratic

equations? 

Watch Video Solution

x2 − 2x + 5 = x2

https://dl.doubtnut.com/l/_dxChunfiaYut
https://dl.doubtnut.com/l/_uTR4SNtMha8P
https://dl.doubtnut.com/l/_luqAkcNzbqKS


11. Which of the following are quadratic

equations? 

Watch Video Solution

(x + 2)2 = 2x2

12. Find the value of discriminant for each of

the following equations. 

Watch Video Solution

2y2 − y + 2 = 0

https://dl.doubtnut.com/l/_luqAkcNzbqKS
https://dl.doubtnut.com/l/_Fd5YYS7EA1Eo
https://dl.doubtnut.com/l/_bfDkJYuAxKxO


13. Find the value of discriminant for each of

the following equations. 

Watch Video Solution

5m2 − m = 0

14. Find the value of discriminant for each of

the following equations. 

Watch Video Solution

√5x2 − x − √5 = 0

https://dl.doubtnut.com/l/_pEk8iRA3K5jH
https://dl.doubtnut.com/l/_wSIcvoXutNGk
https://dl.doubtnut.com/l/_TeRQkVDxDM2J


15. If one root of the quadratic equation

 is -2, find the value of k.

Watch Video Solution

2x2 + kx − 2 = 0

16. Two roots of quadratic equations are given,

frame the equation. 

10 and -10

Watch Video Solution

https://dl.doubtnut.com/l/_TeRQkVDxDM2J
https://dl.doubtnut.com/l/_04ynp3pGF6Ta


17. Two roots of quadratic equations are given,

frame the equation. 

Watch Video Solution

1 − 3√5  and 1 + 3√5

18. Two roots of quadratic equations are given,

frame the equation. 

0 and 7

Watch Video Solution

https://dl.doubtnut.com/l/_GQ4XzMVjitAs
https://dl.doubtnut.com/l/_3Dw2IsmwDCWT
https://dl.doubtnut.com/l/_LXlyeZclT13W


19. Determine the nature of roots for each of

the quadratic equations. 

Watch Video Solution

3x2 − 5x + 7 = 0

20. Determine the nature of roots for each of

the quadratic equations. 

Watch Video Solution

√3x2 + √2x − 2√3 = 0

https://dl.doubtnut.com/l/_LXlyeZclT13W
https://dl.doubtnut.com/l/_ANL57OqcfokC
https://dl.doubtnut.com/l/_mE87PRqUeuuL


21. Determine the nature of roots for each of

the quadratic equations. 

Watch Video Solution

m2 − 2m + 1 = 0

22. Solve the following quadratic equations : 

Watch Video Solution

=
1

x + 5

1

x2

https://dl.doubtnut.com/l/_mE87PRqUeuuL
https://dl.doubtnut.com/l/_sNAv2bnEEH9Q


23. Solve the following quadratic equations: 

Watch Video Solution

x2 − − = 0
3x

10

1

10

24. Solve the following quadratic equations: 

Watch Video Solution

(2x + 3)2 = 25

https://dl.doubtnut.com/l/_jnIZv6xjP1WO
https://dl.doubtnut.com/l/_5y0uWZYliZSZ


25. Solve the following quadratic equations : 

Watch Video Solution

m2 + 5m + 5 = 0

26. Solve the following quadratic equations : 

Watch Video Solution

5m2 + 2m + 1 = 0

https://dl.doubtnut.com/l/_4pQ8DrZlMasR
https://dl.doubtnut.com/l/_VAbUi9w3JWuz


27. Solve the following quadratic equations : 

Watch Video Solution

x3 − 4x − 3 = 0

28. Find m, if the quadratic equation

 has real

and eqaul roots.

Watch Video Solution

(m − 12)x2 + 2(m − 12)x + 2 = 0

https://dl.doubtnut.com/l/_JKgmzBeLGBMT
https://dl.doubtnut.com/l/_V0rUkje0W78l


29. The sum of two roots of a quadratic

equation is 5 and the sum of their cubes is 35.

Find the equation.

Watch Video Solution

30. Find quadratic equation such that its roots

are square of sum of the roots and square of

difference of the roots of equation

Watch Video Solution

(2x2 + 2(p + q)x + p2 + q2 = 0

https://dl.doubtnut.com/l/_JG5dLiNpGrEt
https://dl.doubtnut.com/l/_ppwYFkEh7Riq


31. Mukund possesses RS 50 more than what

Sagar possesses. The product of the amount

they have is numerically RS 15000. Find the

amount each has.

Watch Video Solution

32. The difference between squares of two

numbers is 120. The square of smaller number

is twice the greater number. Find the numbers.

View Text Solution

https://dl.doubtnut.com/l/_ppwYFkEh7Riq
https://dl.doubtnut.com/l/_3166hFDw2uaz
https://dl.doubtnut.com/l/_lIugxb4kpBEn


33. Ranjana wants to distribute 540 oranges

among some students. If 30 students were

more each would get 3 oranges less. Find the

number of students.

Watch Video Solution

34. Mr. Dinesh owns an agricultural farm at

village Talvel. The length of the farm is 10

meter more than twice the breadth. In order

https://dl.doubtnut.com/l/_lIugxb4kpBEn
https://dl.doubtnut.com/l/_Jw5X5z2TaQXC
https://dl.doubtnut.com/l/_xrmqpNICl70q


to harvest rain water, he dug a square shape

pond inside the farm. The side of pond is 

times of the breadth of the farm. The area of

the farm is 20 times the area of the pond. Find

the length and breadth of the farm and of the

pond.

Watch Video Solution

1

3

35. A tank fills completely in 2 hours if both the

taps are open. If only one of the taps is open

at the given time, the smaller tap takes 3

https://dl.doubtnut.com/l/_xrmqpNICl70q
https://dl.doubtnut.com/l/_hhyF9TmDJ36t


hours more than the larger one to fill the tank.

How much times does each tap take to fill the

tank completely?

Watch Video Solution

36. Which is the quadratic equation?

A. 

B. 

C. 

D. 

( ) − 3 = x
5

x

x(x + 5) = 2

n − 1 = 2n

(x + 2) = x
1

x2

https://dl.doubtnut.com/l/_hhyF9TmDJ36t
https://dl.doubtnut.com/l/_uc9OQr2IINkx


Answer: B

Watch Video Solution

37. Choose the correct answer for the

following questions. 

(ii) Out of the following equation which one is

not a quadratic equation?

A. 

B. 

C. 

x2 + 4x = 11 + x2

x2 = 4x

5x2 = 90

https://dl.doubtnut.com/l/_uc9OQr2IINkx
https://dl.doubtnut.com/l/_OnxmWNd2qyJS


D. 

Answer: A

Watch Video Solution

2x − x2 = x2 + 5

38. The roots of  are real and

equal, find k.

A. 0

B. 4

C. 0 or 4

x2 + kx + k = 0

https://dl.doubtnut.com/l/_OnxmWNd2qyJS
https://dl.doubtnut.com/l/_ykUEMSZgozCE


D. 2

Answer: C

Watch Video Solution

39. Which of the following is the value of the

discriminant for 

A. -5

B. 17

C. 

√2x2 − 5x + √2 = 0?

√17

https://dl.doubtnut.com/l/_ykUEMSZgozCE
https://dl.doubtnut.com/l/_dPwmJPCMKzz4


D. 

Answer: B

Watch Video Solution

2√2 − 5

40. Which of the following quadratic

equations has roots 3,5 ?

A. 

B. 

C. 

x2 − 15x + 8 = 0

x2 − 8x + 15 = 0

x2 + 3x + 5 = 0

https://dl.doubtnut.com/l/_dPwmJPCMKzz4
https://dl.doubtnut.com/l/_R7u565o9UbvK


D. 

Answer: B

Watch Video Solution

x2 + 8x − 15 = 0

41. Choose the correct answer for the

following questions. 

(vi) Out of the following equations, find the

equation having the sum of its roots -5.

A. 3x2 − 15x + 3 = 0

https://dl.doubtnut.com/l/_R7u565o9UbvK
https://dl.doubtnut.com/l/_oV4yss04FZLs


B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 5x + 3 = 0

x2 + 3x − 5 = 0

3x2 + 15x + 3 = 0

42. Choose the correct answer for the

following questions. 

 which of the√5m2 − √5m + √5 = 0

https://dl.doubtnut.com/l/_oV4yss04FZLs
https://dl.doubtnut.com/l/_jeQuPyUIh4Ju


following statement is true for this given

equation?

A. Real and unequal roots

B. Real and equal roots

C. Roots are not real

D. Three roots

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jeQuPyUIh4Ju


43. One of the roots of equation

 is 2 find m.

A. -2

B. 

C. 

D. 2

Answer: C

Watch Video Solution

x2 + mx − 5 = 0

−
1

2

1

2

https://dl.doubtnut.com/l/_FULhgr9hGunx
https://dl.doubtnut.com/l/_neCvaUbpSrG1


44. Which of the following are quadratic

equations? 

Watch Video Solution

x2 + 2x + 11 = 0

45. Which of the following are quadratic

equations? 

Watch Video Solution

x2 − 2x + 5 = x2

https://dl.doubtnut.com/l/_neCvaUbpSrG1
https://dl.doubtnut.com/l/_SPWhP3Xtm9o7


46. Which of the following are quadratic

equations? 

Watch Video Solution

(x + 2)2 = 2x2

47. Find the value of discriminant for each of

the following equations. 

Watch Video Solution

2y2 − y + 2 = 0

https://dl.doubtnut.com/l/_FKpMWUBEiKjR
https://dl.doubtnut.com/l/_PVDmnK3yQx5B
https://dl.doubtnut.com/l/_YYCOfYzgsMTG


48. Find the value of discriminant for each of

the following equations. 

Watch Video Solution

5m2 − m = 0

49. Find the value of discriminant for each of

the following equations. 

Watch Video Solution

√5x2 − x − √5 = 0

https://dl.doubtnut.com/l/_YYCOfYzgsMTG
https://dl.doubtnut.com/l/_vNbEueKFkhdc
https://dl.doubtnut.com/l/_GPyAM9nRNPvn


50. One of the roots of quadratic equation

 is -2, find k.

Watch Video Solution

2x2 + kx − 2 = 0

51. Two roots of quadratic equations are given,

frame the equation. 

10 and -10

Watch Video Solution

https://dl.doubtnut.com/l/_GPyAM9nRNPvn
https://dl.doubtnut.com/l/_rPq4FUAcGa2K


52. Two roots of quadratic equations are given,

frame the equation. 

Watch Video Solution

1 − 3√5  and 1 + 3√5

53. Two roots of quadratic equations are given,

frame the equation. 

0 and 7

Watch Video Solution

https://dl.doubtnut.com/l/_M4673wdIxnYp
https://dl.doubtnut.com/l/_hbWS8HnQ8LMt
https://dl.doubtnut.com/l/_HFSjdvXblVcN


54. Determine the nature of roots for each of

the quadratic equations. 

Watch Video Solution

3x2 − 5x + 7 = 0

55. Determine the nature of roots for each of

the quadratic equations. 

Watch Video Solution

√3x2 + √2x − 2√3 = 0

https://dl.doubtnut.com/l/_HFSjdvXblVcN
https://dl.doubtnut.com/l/_CdGcquYwVOvZ
https://dl.doubtnut.com/l/_Y3Q2Xh2Ky5mT


56. Determine the nature of roots for each of

the quadratic equations. 

Watch Video Solution

m2 − 2m + 1 = 0

57. Solve the following quadratic equations : 

Watch Video Solution

=
1

x + 5

1

x2

https://dl.doubtnut.com/l/_Y3Q2Xh2Ky5mT
https://dl.doubtnut.com/l/_w4EWbF2JIBvg


58. Solve the following quadratic equations: 

Watch Video Solution

x2 − − = 0
3x

10

1

10

59. Solve the following quadratic equations: 

Watch Video Solution

(2x + 3)2 = 25

https://dl.doubtnut.com/l/_p5wHD8J4ntqP
https://dl.doubtnut.com/l/_lBYGONBR1MNG


60. Solve the following quadratic equations : 

Watch Video Solution

m2 + 5m + 5 = 0

61. Solve the following quadratic equations : 

Watch Video Solution

5m2 + 2m + 1 = 0

https://dl.doubtnut.com/l/_Y8Mbz80yMK31
https://dl.doubtnut.com/l/_ENnS0k9wfxUI


62. Solve the following quadratic equations : 

Watch Video Solution

x3 − 4x − 3 = 0

63. Find  if

 has real

and equal roots

Watch Video Solution

m

(m − 12)x2 + 2(m − 12)x + 2 = 0

https://dl.doubtnut.com/l/_7lPhpLKM5O55
https://dl.doubtnut.com/l/_oZ1kIJiaUPpw


64. The sum of two roots of a quadratic

equation is 5 and the sum of their cubes is 35.

Find the equation.

Watch Video Solution

65. Find quadratic equation such that its roots

are square of sum of the roots and square of

difference of the roots of equation

Watch Video Solution

(2x2 + 2(p + q)x + p2 + q2 = 0

https://dl.doubtnut.com/l/_rbmTOo72njYO
https://dl.doubtnut.com/l/_wDH47wMZOjBv


66. Mukund possesses RS 50 more than what

Sagar possesses. The product of the amount

they have is numerically RS 15000. Find the

amount each has.

Watch Video Solution

67. The difference between the squares of two

numbers is 120. The square of the smaller

number is twice the greater number. Find the

numbers.

https://dl.doubtnut.com/l/_wDH47wMZOjBv
https://dl.doubtnut.com/l/_Ouf45eBD8vE7
https://dl.doubtnut.com/l/_WmS8MQwiiJrw


Watch Video Solution

68. Ranjana wants to distribute 540 oranges

among some students. If 30 students were

more each would get 3 oranges less. Find the

number of students.

Watch Video Solution

69. Mr. Dinesh owns an agricultural farm at

village Talvel. The length of the farm is 10

https://dl.doubtnut.com/l/_WmS8MQwiiJrw
https://dl.doubtnut.com/l/_vFCV3Vpk90e4
https://dl.doubtnut.com/l/_saeFVKS9S0Co


meter more than twice the breadth. In order

to harvest rain water, he dug a square shape

pond inside the farm. The side of pond is 

times of the breadth of the farm. The area of

the farm is 20 times the area of the pond. Find

the length and breadth of the farm and of the

pond.

Watch Video Solution

1

3

70. A tank fills completely in 2 hours if both

the taps are open. If only one of the taps is

https://dl.doubtnut.com/l/_saeFVKS9S0Co
https://dl.doubtnut.com/l/_Y9NCGKV0fFR0


Multiple Choice Questions

open at the given time, the smaller tap takes 3

hours more than the larger one to fill the tank.

How much times does each tap take to fill the

tank completely?

Watch Video Solution

1. Which of the following is not a quadratic

equation?

https://dl.doubtnut.com/l/_Y9NCGKV0fFR0
https://dl.doubtnut.com/l/_H6Pt2Cat1xtO


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

4x2 + 2x + 2 = 0

m + = 5
1

m

(p + 10)(p − 5) = 0

= 3q + 9
q2 + 1

q1

2. If the qudratic equation  is

written in standard form, then

3x + = x + 3
1

x

https://dl.doubtnut.com/l/_H6Pt2Cat1xtO
https://dl.doubtnut.com/l/_Jqb1MwLIUN6S


A. a=3,b=3,c=1

B. a=3,b=-3,c=1

C. a=2,b=-3,c=1

D. a=3,b=-3,c=3

Answer: C

Watch Video Solution

3. Which of the following equation has 3 as a

root?

https://dl.doubtnut.com/l/_Jqb1MwLIUN6S
https://dl.doubtnut.com/l/_vhKMB68WTqRy


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2 − 6x − 2 = 0

2x2 − 5x − 3 = 0

2x2 − 7x − 6 = 0

3x2 − 10x − 8 = 0

4. If one root of the quadratic equation

 is 5, then the value of k isp2 − 3p + k = 0

https://dl.doubtnut.com/l/_vhKMB68WTqRy
https://dl.doubtnut.com/l/_V0ntXf9f8UCf


A. 0

B. 10

C. -10

D. 5

Answer: C

Watch Video Solution

5. The roots of the quadratic equation

 arex2 + 5x + 6 = 0

https://dl.doubtnut.com/l/_V0ntXf9f8UCf
https://dl.doubtnut.com/l/_jGCBw0SHj43c


A. 2,3

B. 

C. 

D. 

Answer: D

Watch Video Solution

−2, 3

2, − 3

−2, − 3

6. Solve: 

A. 

4√3x2 + 5x − 2√3 = 0.

,
√3

4

2

√3

https://dl.doubtnut.com/l/_jGCBw0SHj43c
https://dl.doubtnut.com/l/_ITQapcVxty1L


B. 

C. 

D. 

Answer: B

Watch Video Solution

, −
√3

4

2

√3

,
√3

2

2

√3

, −
√3

2

2

√3

7. Which term must be added and subtracted

to solve the quadratic equation

 by the method of

completing the square?

3x2 − 5x + 2 = 0

https://dl.doubtnut.com/l/_ITQapcVxty1L
https://dl.doubtnut.com/l/_vemyuXQNdJQd


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

25

25

4

25

9

25

36

8. The roots of the quadratic equation

 arem2 − 3m + 1 = 0

https://dl.doubtnut.com/l/_vemyuXQNdJQd
https://dl.doubtnut.com/l/_MKahtFhSn9Qf


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3, 1

,
−3 + √5

2

−3 − √5

2

,
3 + √5

2

3 − √5

2

,
3 + √2

2

3 − √2

2

9. The discriminate  of the quadratic

equation  is

(Δ)

3x2 + 2x − 9 = 0

https://dl.doubtnut.com/l/_MKahtFhSn9Qf
https://dl.doubtnut.com/l/_c9o5abe5b6mb


A. 112

B. -112

C. 56

D. 0

Answer: A

Watch Video Solution

10. If the discriminant  of the quadratic

equation  is zero, then the

value of d is are

(Δ)

4x2 + dx + 25 = 0

/

https://dl.doubtnut.com/l/_c9o5abe5b6mb
https://dl.doubtnut.com/l/_UT2pGzgZ44LW


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

10

±10

20

±20

11. The roots of the qudratic equation

 are9x2 − 6x + 1 = 0

https://dl.doubtnut.com/l/_UT2pGzgZ44LW
https://dl.doubtnut.com/l/_BDwLB3qPcHNt


A. real and equal

B. not real

C. real and unequal

D. none of these

Answer: A

Watch Video Solution

12. The roots of the equation

are2x2 − 6x + 3 = 0

https://dl.doubtnut.com/l/_BDwLB3qPcHNt
https://dl.doubtnut.com/l/_kk0YUz3CfweK


A. real and equal

B. real and unequal

C. not real

D. none of these

Answer: B

Watch Video Solution

13. Which of the following equations has no

real roots?

https://dl.doubtnut.com/l/_kk0YUz3CfweK
https://dl.doubtnut.com/l/_CntnUb4t5pWD


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x2 − 3x + 5 = 0

3x2 − 2x − 8 = 0

4x2 + 4x + 1 = 0

3x2 − 4x + 1 = 0

14. If  and  are the roots of the quadratic

equation , then 

α β

3m2 + 2m − 4 = 0

α2 + β2 =

https://dl.doubtnut.com/l/_CntnUb4t5pWD
https://dl.doubtnut.com/l/_5M5hN3n0gYa6


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

28

9

−28

9

12

9

−12

9

15. If  and  are the roots of the quadratic

equation , then 

α β

x2 − 3x − 2 = 0 + =
α

β

β

α

https://dl.doubtnut.com/l/_5M5hN3n0gYa6
https://dl.doubtnut.com/l/_h1KxDvhET9i4


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3

2

−3

−2

13

2

−13

2

16. If the roots of a quadratic equation are -1

and 3, then the quadratic equation is

https://dl.doubtnut.com/l/_h1KxDvhET9i4
https://dl.doubtnut.com/l/_D1MV8bYPFKBx


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − 2x − 3 = 0

x2 + 2x − 3 = 0

x2 − 2x + 3 = 0

x2 + 2x + 3 = 0

17. Which of the following is not a quadratic

equation?

https://dl.doubtnut.com/l/_D1MV8bYPFKBx
https://dl.doubtnut.com/l/_VJPXnNniWaaG


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4x2 + 2x + 2 = 0

m + = 5
1

m

(p + 10)(p − 5) = 0

= q + 9
q2 + 1

q

18. If the qudratic equation 

is written in standard form, then

3x + = x + 3
1

x

https://dl.doubtnut.com/l/_VJPXnNniWaaG
https://dl.doubtnut.com/l/_BFiAFhCuaM0h


A. a=3,b=3,c=1

B. a=3,b=-3,c=1

C. a=2,b=-3,c=1

D. a=3,b=-3,c=3

Answer: C

Watch Video Solution

19. Which of the following equation has 3 as a

root?

https://dl.doubtnut.com/l/_BFiAFhCuaM0h
https://dl.doubtnut.com/l/_aSuRii3IDRUh


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2 − 6x − 2 = 0

2x2 − 5x − 3 = 0

2x2 − 7x − 6 = 0

3x2 − 10x − 8 = 0

20. If one root of the quadratic equation

 is 5, then the value of k isp2 − 3p + k = 0

https://dl.doubtnut.com/l/_aSuRii3IDRUh
https://dl.doubtnut.com/l/_SNyOxZ86kGuX


A. 0

B. 10

C. -10

D. 5

Answer: C

Watch Video Solution

21. The roots of the quadratic equation

 arex2 + 5x + 6 = 0

https://dl.doubtnut.com/l/_SNyOxZ86kGuX
https://dl.doubtnut.com/l/_lRNjZt7dvYLN


A. 2,3

B. 

C. 

D. 

Answer: D

Watch Video Solution

−2, 3

2, − 3

−2, − 3

22. Solve: 

A. 

4√3x2 + 5x − 2√3 = 0.

,
√3

4

2

√3

https://dl.doubtnut.com/l/_lRNjZt7dvYLN
https://dl.doubtnut.com/l/_gGMIyWAvE5qt


B. 

C. 

D. 

Answer: B

Watch Video Solution

, −
√3

4

2

√3

,
√3

2

2

√3

, −
√3

2

2

√3

23. Which term must be added and subtracted

to solve the quadratic equation

 by the method of

completing the square?

3x2 − 5x + 2 = 0

https://dl.doubtnut.com/l/_gGMIyWAvE5qt
https://dl.doubtnut.com/l/_BUGnUQGomtht


A. 25

B. 

C. 

D. 

Answer: D

Watch Video Solution

25

4

25

9

25

35

24. The roots of the quadratic equation

 arem2 − 3m + 1 = 0

https://dl.doubtnut.com/l/_BUGnUQGomtht
https://dl.doubtnut.com/l/_O7RFERXZ628U


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3, 1

,
−3 + √5

2

−3 − √5

2

,
3 + √5

2

3 − √5

2

,
3 + √2

2

3 − √2

2

25. The discriminate  of the quadratic

equation  is

(Δ)

3x2 + 2x − 9 = 0

https://dl.doubtnut.com/l/_O7RFERXZ628U
https://dl.doubtnut.com/l/_hFnzEAJb9D1Y


A. 112

B. -112

C. 56

D. 0

Answer: A

Watch Video Solution

26. If the discriminant  of the quadratic

equation  is zero, then the

value of d is are

(Δ)

4x2 + dx + 25 = 0

/

https://dl.doubtnut.com/l/_hFnzEAJb9D1Y
https://dl.doubtnut.com/l/_RKx115AEzZjC


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

10

±10

20

±20

27. The roots of the qudratic equation

 are9x2 − 6x + 1 = 0

https://dl.doubtnut.com/l/_RKx115AEzZjC
https://dl.doubtnut.com/l/_Osmtbn7BiZO1


A. real and equal

B. not real

C. real and unequal

D. none of these

Answer: A

Watch Video Solution

28. The roots of the equation

are2x2 − 6x + 3 = 0

https://dl.doubtnut.com/l/_Osmtbn7BiZO1
https://dl.doubtnut.com/l/_bBTLj1q4Gq1p


A. real and equal

B. real and unequal

C. not real

D. none of these

Answer: B

Watch Video Solution

29. Which of the following equations has no

real roots?

https://dl.doubtnut.com/l/_bBTLj1q4Gq1p
https://dl.doubtnut.com/l/_HuYwDeX4IF0I


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x2 − 3x + 5 = 0

3x2 − 2x − 8 = 0

4x2 + 4x + 1 = 0

3x2 − 4x + 1 = 0

30. If  and  are the roots of the quadratic

equation , then 

α β

3m2 + 2m − 4 = 0

α2 + β2 =

https://dl.doubtnut.com/l/_HuYwDeX4IF0I
https://dl.doubtnut.com/l/_Q8Bz15doZxkG


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

28

9

−28

9

12

9

−12

9

31. If  and  are the roots of the quadratic

equation , then 

α β

x2 − 3x − 2 = 0 + =
α

β

β

α

https://dl.doubtnut.com/l/_Q8Bz15doZxkG
https://dl.doubtnut.com/l/_R8xJqL7nlaU8


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3

2

−3

−2

13

2

−13

2

32. If the roots of a quadratic equation are -1

and 3, then the quadratic equation is

https://dl.doubtnut.com/l/_R8xJqL7nlaU8
https://dl.doubtnut.com/l/_25uGauP6eBdk


Additional Problems For Practice Based On

Practice Set 2 1

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − 2x − 3 = 0

x2 + 2x − 3 = 0

x2 − 2x + 3 = 0

x2 + 2x + 3 = 0

https://dl.doubtnut.com/l/_25uGauP6eBdk


1. Which of the following are qudratic

equations? 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(vi)  


(vii) .

Watch Video Solution

x2 − x − 5 = 0

y2 + 4 = 3y − 1

3x2 − 5x + 3 = 0

x − 3 = 4x

(y − 2)(y + 2) = 0

p + 3 =
1

p2

− 4 = y
3

y

https://dl.doubtnut.com/l/_fPczMdhTDQHl
https://dl.doubtnut.com/l/_sx3bTigk3CkX


2. Write the following equations in the form

. Also, find the value of a,b

and c. 

(i) .

Watch Video Solution

ax2 + bx + c = 0

t2 − 3t = 4 − 2t

3. Write the following equations in the form

. Also, find the value of a,b

and c. 

(ii) .

Watch Video Solution

ax2 + bx + c = 0

x2 − 3x = − 1

https://dl.doubtnut.com/l/_sx3bTigk3CkX
https://dl.doubtnut.com/l/_9Mj7wxw4IiOz


4. Write the following equations in the form

. Also, find the value of a,b

and c. 

(iii) 

Watch Video Solution

ax2 + bx + c = 0

(x + 5)(x − 1) = 6

5. Write the following equations in the form

. Also, find the value of a,b

and c. 

(iv) 

ax2 + bx + c = 0

= − 3
x2 + 5

x2

https://dl.doubtnut.com/l/_9Mj7wxw4IiOz
https://dl.doubtnut.com/l/_aymbLTC5FMkU
https://dl.doubtnut.com/l/_gN4UQd4nJCuz


Watch Video Solution

6. Determine whether the value given against

each of the qaudratic equation are the roots

of the equation. 

(i) .

Watch Video Solution

x2 + 5x − 6 = 0, x = − 6, 2

7. What are the roots of the quadratic

equation  ?2x2 − 7x + 6 = 0

https://dl.doubtnut.com/l/_gN4UQd4nJCuz
https://dl.doubtnut.com/l/_rstG5ujjTXKm
https://dl.doubtnut.com/l/_OrxL9qbYomLc


Watch Video Solution

8. Determine whether the value given against

each of the qaudratic equation are the roots

of the equation. 

(iii) .

Watch Video Solution

x2 + 3x − 4 = 0, x = 1, − 2, − 3

9. Determine whether the value given against

each of the qaudratic equation are the roots

https://dl.doubtnut.com/l/_OrxL9qbYomLc
https://dl.doubtnut.com/l/_15a4i5MCZFri
https://dl.doubtnut.com/l/_ZHAuTMG2UJhf


of the equation. 

(iv) .

Watch Video Solution

(m + 1)(m + 3) = 0, m = 1, − 1, 2

10. If one root of the quadratic equation

 is 1, then find the value of k.

Watch Video Solution

kx2– 7x + 5 = 0

11. Find k, one of the roots of the quadratic

equation  is 3.kx2– 7x + 12 = 0

https://dl.doubtnut.com/l/_ZHAuTMG2UJhf
https://dl.doubtnut.com/l/_DoSbarhuW0BN
https://dl.doubtnut.com/l/_zPzFg32j7HQn


Watch Video Solution

12. If one of the roots of the quadratic

equation is 4, then find the

value of k.

Watch Video Solution

x2– 7x + k = 0

13. Which of the following are qudratic

equations? 

(i)  
x2 − x − 5 = 0

https://dl.doubtnut.com/l/_zPzFg32j7HQn
https://dl.doubtnut.com/l/_xElMP9gRijAu
https://dl.doubtnut.com/l/_Q6ZvWdu9Pa2Z


(ii)  


(iii)  


(iv)  


(v)  


(vi)  


(vii) .

Watch Video Solution

y2 + 4 = 3y − 1

3x2 − 5x + 3 = 0

x − 3 = 4x

(y − 2)(y + 2) = 0

p + 3 =
1

p2

− 4 = y
3

y

14. Write the following equations in the form

. Also, find the value of a,bax2 + bx + c = 0

https://dl.doubtnut.com/l/_Q6ZvWdu9Pa2Z
https://dl.doubtnut.com/l/_LeaDdx9BY1vk


and c. 

(i) .

Watch Video Solution

t2 − 3t = 4 − 2t

15. Write the following equations in the form

. Also, find the value of a,b

and c. 

(ii) .

Watch Video Solution

ax2 + bx + c = 0

x2 − 3x = − 1

https://dl.doubtnut.com/l/_LeaDdx9BY1vk
https://dl.doubtnut.com/l/_xAMyk4EQIKUl


16. Write the following equations in the form

. Also, find the value of a,b

and c. 

(iii) 

Watch Video Solution

ax2 + bx + c = 0

(x + 5)(x − 1) = 6

17. Write the following equations in the form

. Also, find the value of a,b

and c. 

(iv) 

ax2 + bx + c = 0

= − 3
x2 + 5

x2

https://dl.doubtnut.com/l/_HbM2wddV2wbK
https://dl.doubtnut.com/l/_b9xPLjsK7kAj


Watch Video Solution

18. Determine whether the value given against

each of the qaudratic equation are the roots

of the equation. 

(i) .

Watch Video Solution

x2 + 5x − 6 = 0, x = − 6, 2

19. Determine whether the value given against

each of the qaudratic equation are the roots

https://dl.doubtnut.com/l/_b9xPLjsK7kAj
https://dl.doubtnut.com/l/_mavfdKlA66oJ
https://dl.doubtnut.com/l/_rKwRyOH4tBfO


of the equation. 

(ii) .

Watch Video Solution

2x2 − 7x + 6 = 0, x = , − 2
3

2

20. Determine whether the value given against

each of the qaudratic equation are the roots

of the equation. 

(iii) .

Watch Video Solution

x2 + 3x − 4 = 0, x = 1, − 2, − 3

https://dl.doubtnut.com/l/_rKwRyOH4tBfO
https://dl.doubtnut.com/l/_dRV8QFDlriSl


21. Determine whether the value given against

each of the qaudratic equation are the roots

of the equation. 

(iv) .

Watch Video Solution

(m + 1)(m + 3) = 0, m = 1, − 1, 2

22. If one root of the quadratic equation

 is 1, then find the value of k.

Watch Video Solution

kx2– 7x + 5 = 0

https://dl.doubtnut.com/l/_03AseaRKGZCp
https://dl.doubtnut.com/l/_WqHOpLJrt4zV
https://dl.doubtnut.com/l/_8LaLyd2MMxaP


23. Find k, one of the roots of the quadratic

equation  is 3.

Watch Video Solution

kx2– 7x + 12 = 0

24. If one of the roots of the quadratic

equation is 4, then find the

value of k.

Watch Video Solution

x2– 7x + k = 0

https://dl.doubtnut.com/l/_8LaLyd2MMxaP
https://dl.doubtnut.com/l/_IlZHPBM8RDQd


Additional Problems For Practice Based On

Practice Set 2 2

1. Solve the following quadratic equation by

factorisation method: 

(i) .

Watch Video Solution

x2 + 6x + 5 = 0

2. Solve the following quadratic equation by

factorisation method: 

(ii) .x2 + 10x + 24 = 0

https://dl.doubtnut.com/l/_jUXTy3pgpeGg
https://dl.doubtnut.com/l/_aO1InETlU5rg


Watch Video Solution

3. Solve the following quadratic equation

using factorization method: 

Watch Video Solution

x2 + 11x + 24 = 0

4. Solve the following quadratic equation by

factorisation method: 

(iv) .m2 − 14m + 13 = 0

https://dl.doubtnut.com/l/_aO1InETlU5rg
https://dl.doubtnut.com/l/_7ExZ94ivYz7K
https://dl.doubtnut.com/l/_NxYJjOex598Y


Watch Video Solution

5. Solve the following quadratic equation by

factorization method 

 


Watch Video Solution

x2 − 7x + 12 = 0

6. Solve the following quadratic equation by

factorisation method: 

(vi) .

Watch Video Solution

x2 − 3x − 28 = 0

https://dl.doubtnut.com/l/_NxYJjOex598Y
https://dl.doubtnut.com/l/_VyvFFeCfjIuJ
https://dl.doubtnut.com/l/_fdStLa9n2n9N


7. Solve the following quadratic equation by

factorisation method: 

(vii) .

Watch Video Solution

q2 − 2(7q + 16) = 0

8. Solve the following quadratic equation by

factorisation method: 

(viii) .

Watch Video Solution

3y2 = 15y

https://dl.doubtnut.com/l/_fdStLa9n2n9N
https://dl.doubtnut.com/l/_Zl4xK72BokzA
https://dl.doubtnut.com/l/_m4yF1FOXx9sZ


9. Solve the following quadratic equation by

factorisation method: 

(ix) 

Watch Video Solution

x2 = 3

10. Solve the following quadratic equation by

factorisation method: 

(x) .

Watch Video Solution

y2 − 36 = 0

https://dl.doubtnut.com/l/_m4yF1FOXx9sZ
https://dl.doubtnut.com/l/_VR7gpsLuB8gA
https://dl.doubtnut.com/l/_QWH4cCpX0ANH


11. Solve the following quadratic equation by

factorisation method: 

(xi) .

Watch Video Solution

t2 − 49 = 0

12. Solve the following quadratic equation by

factorisation method: 

(xii) .

Watch Video Solution

4x2 − 1 = 0

https://dl.doubtnut.com/l/_ohTqfuBJwU1F
https://dl.doubtnut.com/l/_Chbavjx2SXBr
https://dl.doubtnut.com/l/_TTwzYhyGaU7j


13. Solve the following quadratic equation by

factorisation method: 

(xiii) 

Watch Video Solution

9x2 − 16 = 0

14. Solve the following quadratic equation by

factorisation method: 

(xiv) .

Watch Video Solution

3y2 − 14y + 8 = 0

https://dl.doubtnut.com/l/_TTwzYhyGaU7j
https://dl.doubtnut.com/l/_4wZPBXxiFCb1
https://dl.doubtnut.com/l/_pCWeeE0apOLF


15. Solve the following quadratic equation by

factorisation method: 

(xv) .

Watch Video Solution

3x2 − x − 10 = 0

16. Solve the following quadratic equation by

factorisation method: 

(xvi) 

Watch Video Solution

3x2 − 29x + 40 = 0

https://dl.doubtnut.com/l/_pCWeeE0apOLF
https://dl.doubtnut.com/l/_ytayYPnOgEj7


17. Solve the following quadratic equation by

factorisation method: 

(xvii) .

Watch Video Solution

x + = 12, x ≠ 0
35

x

18. Solve the following quadratic equation by

factorisation method: 

(xviii) .

Watch Video Solution

6√3x2 + 7x = √3

https://dl.doubtnut.com/l/_SmeyBmbPp8di
https://dl.doubtnut.com/l/_3SCc1Naf2pIo
https://dl.doubtnut.com/l/_Z9h8VHhBJmuH


19. Solve the following quadratic equation by

factorisation method: 

(i) .

Watch Video Solution

x2 + 6x + 5 = 0

20. Solve the following quadratic equation by

factorisation method: 

(ii) .

Watch Video Solution

x2 + 10x + 24 = 0

https://dl.doubtnut.com/l/_Z9h8VHhBJmuH
https://dl.doubtnut.com/l/_zxK2LYmCvTxL
https://dl.doubtnut.com/l/_jAl4VMjAQtkJ


21. Solve the following quadratic equation

using factorization method: 

Watch Video Solution

x2 + 11x + 24 = 0

22. Solve the following quadratic equation by

factorisation method: 

(iv) .

Watch Video Solution

m2 − 14m + 13 = 0

https://dl.doubtnut.com/l/_jAl4VMjAQtkJ
https://dl.doubtnut.com/l/_Jgz7E7SZCftm


23. Solve the following quadratic equation by

factorization method 

 


Watch Video Solution

x2 − 7x + 12 = 0

24. Solve the following quadratic equation by

factorisation method: 

(vi) .

Watch Video Solution

x2 − 3x − 28 = 0

https://dl.doubtnut.com/l/_MzADJG3TfxUY
https://dl.doubtnut.com/l/_ab04QFNJ5P0H
https://dl.doubtnut.com/l/_6JUdbIDAIPQo


25. Solve the following quadratic equation by

factorisation method: 

(vii) .

Watch Video Solution

q2 − 2(7q + 16) = 0

26. Solve the following quadratic equation by

factorisation method: 

(viii) .

Watch Video Solution

3y2 = 15y

https://dl.doubtnut.com/l/_6JUdbIDAIPQo
https://dl.doubtnut.com/l/_pQPLpLWGPQuo
https://dl.doubtnut.com/l/_kblI0gfQEIBq


27. Solve the following quadratic equation by

factorisation method: 

(ix) 

Watch Video Solution

x2 = 3

28. Solve the following quadratic equation by

factorisation method: 

(x) .

Watch Video Solution

y2 − 36 = 0

https://dl.doubtnut.com/l/_kblI0gfQEIBq
https://dl.doubtnut.com/l/_LmVW9u3PZKk6


29. Solve the following quadratic equation by

factorisation method: 

(xi) .

Watch Video Solution

t2 − 49 = 0

30. Solve the following quadratic equation by

factorisation method: 

(xii) .

Watch Video Solution

4x2 − 1 = 0

https://dl.doubtnut.com/l/_EyuKtQWJ0HQD
https://dl.doubtnut.com/l/_SXctZkfXrO8K
https://dl.doubtnut.com/l/_XyN6KZI3c8ck


31. Solve the following quadratic equation by

factorisation method: 

(xiii) 

Watch Video Solution

9x2 − 16 = 0

32. Solve the following quadratic equation by

factorisation method: 

(xiv) .

Watch Video Solution

3y2 − 14y + 8 = 0

https://dl.doubtnut.com/l/_XyN6KZI3c8ck
https://dl.doubtnut.com/l/_OawI5cIQ0KlB
https://dl.doubtnut.com/l/_AWgxFCmX3HBJ


33. Solve the following quadratic equation by

factorisation method: 

(xv) .

Watch Video Solution

3x2 − x − 10 = 0

34. Solve the following quadratic equation by

factorisation method: 

(xvi) 

Watch Video Solution

3x2 − 29x + 40 = 0

https://dl.doubtnut.com/l/_AWgxFCmX3HBJ
https://dl.doubtnut.com/l/_yUrIKHWMuTkU


35. Solve the following quadratic equation by

factorisation method: 

(xvii) .

Watch Video Solution

x + = 12, x ≠ 0
35

x

36. Solve the following quadratic equation by

factorisation method: 

(xviii) .

Watch Video Solution

6√3x2 + 7x = √3

https://dl.doubtnut.com/l/_zTsSvO9DkH2a
https://dl.doubtnut.com/l/_04wHQ17XLxfU


Additional Problems For Practice Based On

Practice Set 2 3

1. Solve following quadratic equations by

completing the square method. 

(i) .

Watch Video Solution

x2 + 8x − 48 = 0

2. Solve the following quadratic equation by

completing square method: 

x2 + 11x + 24 = 0

https://dl.doubtnut.com/l/_j5xyZPYWZYRb
https://dl.doubtnut.com/l/_RLGeBxSWSYVe


Watch Video Solution

3. Solve following quadratic equations by

completing the square method. 

(iii) 

Watch Video Solution

m2 + − = 0
m

2

3

2

4. Solve following quadratic equations by

completing the square method. 

(iv) .y2 − 4y = 1

https://dl.doubtnut.com/l/_RLGeBxSWSYVe
https://dl.doubtnut.com/l/_K9h6rQm07vhz
https://dl.doubtnut.com/l/_1qGLm8dhRJVR


Watch Video Solution

5. Solve following quadratic equations by

completing the square method. 

(v) 

Watch Video Solution

x2 − 6x + 4 = 0

6. Solve following quadratic equations by

completing the square method. 

(vi) 

Watch Video Solution

x2 + 8x + 9 = 0

https://dl.doubtnut.com/l/_1qGLm8dhRJVR
https://dl.doubtnut.com/l/_1lup25tD1X4t
https://dl.doubtnut.com/l/_DACx3L4fDiAu


7. Solve the following quadratic equation by

completing square: .

Watch Video Solution

z2 + 4z − 7 = 0

8. Solve following quadratic equations by

completing the square method. 

(viii) 

Watch Video Solution

t2 + 2t = t + 3

https://dl.doubtnut.com/l/_DACx3L4fDiAu
https://dl.doubtnut.com/l/_URYcRQVIva13
https://dl.doubtnut.com/l/_XHQidgkQU4kX
https://dl.doubtnut.com/l/_hFireddCBFFo


9. Solve following quadratic equations by

completing the square method. 

(ix) 

Watch Video Solution

m2 − 3m − 1 = 0

10. Solve following quadratic equations by

completing the square method. 

.

Watch Video Solution

5x2 − 4x − 3 = 0

https://dl.doubtnut.com/l/_hFireddCBFFo
https://dl.doubtnut.com/l/_3SifcXEpGU4M
https://dl.doubtnut.com/l/_b4y6sBvKPipN


11. Solve following quadratic equations by

completing the square method. 

(i) .

Watch Video Solution

x2 + 8x − 48 = 0

12. Solve the following quadratic equation by

completing square method: 

Watch Video Solution

x2 + 11x + 24 = 0

https://dl.doubtnut.com/l/_b4y6sBvKPipN
https://dl.doubtnut.com/l/_kr2lbLp0XhZD


13. Solve following quadratic equations by

completing the square method. 

(iii) 

Watch Video Solution

m2 + − = 0
m

2

3

2

14. Solve following quadratic equations by

completing the square method. 

(iv) .

Watch Video Solution

y2 − 4y = 1

https://dl.doubtnut.com/l/_ZCBDV3rUue1O
https://dl.doubtnut.com/l/_TVp88Uvom2gl
https://dl.doubtnut.com/l/_viXwYYhQVDuC


15. Solve following quadratic equations by

completing the square method. 

(v) 

Watch Video Solution

x2 − 6x + 4 = 0

16. Solve following quadratic equations by

completing the square method. 

(vi) 

Watch Video Solution

x2 + 8x + 9 = 0

https://dl.doubtnut.com/l/_viXwYYhQVDuC
https://dl.doubtnut.com/l/_uEhSD4vvROjB
https://dl.doubtnut.com/l/_KhCQ5EFHCuti


17. Solve the following quadratic equation by

completing square: .

Watch Video Solution

z2 + 4z − 7 = 0

18. Solve following quadratic equations by

completing the square method. 

(viii) 

Watch Video Solution

t2 + 2t = t + 3

https://dl.doubtnut.com/l/_KhCQ5EFHCuti
https://dl.doubtnut.com/l/_4J4v8v0iMA5e


19. Solve following quadratic equations by

completing the square method. 

(ix) 

Watch Video Solution

m2 − 3m − 1 = 0

20. Solve following quadratic equations by

completing the square method. 

.

Watch Video Solution

5x2 − 4x − 3 = 0

https://dl.doubtnut.com/l/_OuMx1ggS2ltk
https://dl.doubtnut.com/l/_uhWoVnguag0G


Additional Problems For Practice Based On

Practice Set 2 4

1. Solve the following quadratic equations

equation by using formula. 

(i) .

Watch Video Solution

m2 − 14m + 13 = 0

2. Solve the following quadratic equations

equation by using formula. 

(ii) .x2 − 2x − 3 = 0

https://dl.doubtnut.com/l/_voeqqQlvrmqz
https://dl.doubtnut.com/l/_2eIWQgjE9XGW


Watch Video Solution

3. Solve the following quadratic equations

equation by using formula. 

(iii) .

Watch Video Solution

m2 − 3m − 10 = 0

4. Solve the following quadratic equations

equation by using formula. 

(iv) .x2 + x + 5 = 0

https://dl.doubtnut.com/l/_2eIWQgjE9XGW
https://dl.doubtnut.com/l/_JIiVNyiDY6Ag
https://dl.doubtnut.com/l/_3CpZgtyDPKvV


Watch Video Solution

5. Solve the following quadratic equations

equation by using formula. 

(v) 

Watch Video Solution

m2 − m − 3 = 0
1

2

6. Solve the following quadratic equations

equation by using formula. 

(vi) 

Watch Video Solution

3y2 + 7y + 4 = 0

https://dl.doubtnut.com/l/_3CpZgtyDPKvV
https://dl.doubtnut.com/l/_96XwFFyFo29D
https://dl.doubtnut.com/l/_EHBQKwEhUSUv


7. Solve the following quadratic equations

equation by using formula. 

(vii) .

Watch Video Solution

2x2 + 5x + 2 = 0

8. Solve the following quadratic equations

equation by using formula. 

(viii) .

Watch Video Solution

25x2 + 30x + 9 = 0

https://dl.doubtnut.com/l/_EHBQKwEhUSUv
https://dl.doubtnut.com/l/_KQ3bSprfBceR
https://dl.doubtnut.com/l/_DMcc8wXHidqh


9. Solve the following quadratic equations

equation by using formula. 

(ix) .

Watch Video Solution

7p2 − 5p − 2 = 0

10. Solve the following quadratic equations

equation by using formula. 

(xiii) .

Watch Video Solution

x2 − 3x = 2

https://dl.doubtnut.com/l/_DMcc8wXHidqh
https://dl.doubtnut.com/l/_Mk7cPOqtlh2W
https://dl.doubtnut.com/l/_F8Cu51SVmJ7x


11. Solve the following quadratic equations

equation by using formula. 

(xi) .

Watch Video Solution

y2 − 6y + 2 = 0

12. Solve the following quadratic equations

equation by using formula. 

(xii) .

Watch Video Solution

x2 + 10x + 2 = 0

https://dl.doubtnut.com/l/_vKaH6sqqtE1e
https://dl.doubtnut.com/l/_u9sWlLUAELHf
https://dl.doubtnut.com/l/_TGf1B8i12YMm


13. Solve the following quadratic equations by

using formula method : 

Watch Video Solution

x2 − 3x − 2 = 0

14. Solve the following quadratic equations

equation by using formula. 

(xiv) 

Watch Video Solution

4x2 + 7x + 2 = 0

https://dl.doubtnut.com/l/_TGf1B8i12YMm
https://dl.doubtnut.com/l/_SJg8xYSlg1hI
https://dl.doubtnut.com/l/_y7rybLUTaI12


15. Solve the following quadratic equation

using formula method: 

.

Watch Video Solution

6x2 − 7x − 1 = 0

16. Solve the following quadratic equations

equation by using formula. 

(i) .

Watch Video Solution

m2 − 14m + 13 = 0

https://dl.doubtnut.com/l/_y7rybLUTaI12
https://dl.doubtnut.com/l/_aKJpvtG6mBgU


17. Solve the following quadratic equations

equation by using formula. 

(ii) .

Watch Video Solution

x2 − 2x − 3 = 0

18. Solve the following quadratic equations

equation by using formula. 

(iii) .

Watch Video Solution

m2 − 3m − 10 = 0

https://dl.doubtnut.com/l/_R6mcPygRfF6Q
https://dl.doubtnut.com/l/_pMOUy40Ya1wT
https://dl.doubtnut.com/l/_TktCdBxC6OGy


19. Solve the following quadratic equations

equation by using formula. 

(iv) .

Watch Video Solution

x2 + x + 5 = 0

20. Solve the following quadratic equations

equation by using formula. 

(v) 

Watch Video Solution

m2 − m − 3 = 0
1

2

https://dl.doubtnut.com/l/_TktCdBxC6OGy
https://dl.doubtnut.com/l/_5wUknJfTL7ie
https://dl.doubtnut.com/l/_9susyskSZfMi


21. Solve the following quadratic equations

equation by using formula. 

(vi) 

Watch Video Solution

3y2 + 7y + 4 = 0

22. Solve the following quadratic equations by

factorisation method : 

Watch Video Solution

2x2 + 5x + 2 = 0

https://dl.doubtnut.com/l/_9susyskSZfMi
https://dl.doubtnut.com/l/_0ju2twJyPQsU


23. Solve the following quadratic equations

equation by using formula. 

(viii) .

Watch Video Solution

25x2 + 30x + 9 = 0

24. Solve the following quadratic equations

equation by using formula. 

(ix) .

Watch Video Solution

7p2 − 5p − 2 = 0

https://dl.doubtnut.com/l/_CPhaJZCiC8h7
https://dl.doubtnut.com/l/_FIrxWA3c9cAf
https://dl.doubtnut.com/l/_McDjgv9hEuwy


25. Solve the following quadratic equations

equation by using formula. 

(x) .

Watch Video Solution

3q2 − 2q = 8

26. Solve the following quadratic equations

equation by using formula. 

(xi) .

Watch Video Solution

y2 − 6y + 2 = 0

https://dl.doubtnut.com/l/_McDjgv9hEuwy
https://dl.doubtnut.com/l/_HBBH7eOOsp60
https://dl.doubtnut.com/l/_UOUZpFH38zaW


27. Solve the following quadratic equations

equation by using formula. 

(xii) .

Watch Video Solution

x2 + 10x + 2 = 0

28. Solve the following quadratic equations by

using formula method : 

Watch Video Solution

x2 − 3x − 2 = 0

https://dl.doubtnut.com/l/_UOUZpFH38zaW
https://dl.doubtnut.com/l/_h5NsSVNnvOI7


29. Solve the following quadratic equations

equation by using formula. 

(xiv) 

Watch Video Solution

4x2 + 7x + 2 = 0

30. Solve the following quadratic equation

using formula method: 

.

Watch Video Solution

6x2 − 7x − 1 = 0

https://dl.doubtnut.com/l/_2vWJFhyonvWR
https://dl.doubtnut.com/l/_ouM7bgQ9H09j


Additional Problems For Practice Based On

Practice Set 2 5

1. Find the value of discriminant of the

following quadratic equations. 

(i) .

Watch Video Solution

x2 + 10 − 7 = 0

2. Find the value of discriminant of the

following quadratic equations. 

(ii) 2x2 − 3x + 5 = 0

https://dl.doubtnut.com/l/_k67yIyJQkGZU
https://dl.doubtnut.com/l/_bwexOkgIl1KM


Watch Video Solution

3. Find the value of discriminant of the

following quadratic equations. 

(iii) .

Watch Video Solution

2m2 + m − 1 = 0

4. Find the value of discriminant of the

following quadratic equations. 

(iv) .3x2 − 4√3x + 4 = 0

https://dl.doubtnut.com/l/_bwexOkgIl1KM
https://dl.doubtnut.com/l/_aLeI70dIHVIS
https://dl.doubtnut.com/l/_9mr0ExJO5EPs


Watch Video Solution

5. Find the value of the discriminant  for

the quadratic equation 

Watch Video Solution

(Δ)

x2 + + 7x + 6 = 0

6. Determine the nature of roots of the

following quadratic equations. 

(i) .

Watch Video Solution

9x2 + 6x + 1 = 0

https://dl.doubtnut.com/l/_9mr0ExJO5EPs
https://dl.doubtnut.com/l/_enE8oRpgMtAs
https://dl.doubtnut.com/l/_CTiqPoRKYxtn


7. Determine the nature of roots of the

following quadratic equations. 

(ii) .

Watch Video Solution

p2 − √3p + 2 = 0

8. Determine the nature of roots of the

following quadratic equations. 

(iii) .

Watch Video Solution

2x2 − 3x − 2 = 0

https://dl.doubtnut.com/l/_JGZxcIACaCuo
https://dl.doubtnut.com/l/_efEDNvsKWmUJ
https://dl.doubtnut.com/l/_XGy354XXISvy


9. Determine the nature of roots of the

following quadratic equations. 

(iv) .

Watch Video Solution

2x2 − 5x + 7 = 0

10. Determine the nature of roots of the

following quadratic equations. 

(v) .

Watch Video Solution

√3x2 + 2√3x + √3 = 0

https://dl.doubtnut.com/l/_XGy354XXISvy
https://dl.doubtnut.com/l/_MkxP8OOkmsAj
https://dl.doubtnut.com/l/_NgvfbDkiFkfP


11. If  are the roots of the quadratic

equation , then find 

 and .

Watch Video Solution

α and β

2x2 + 6x − 5 = 0

(α + β) α × β

12. From the quadratic equation, if its roots

are 

(i) 10 and 3

Watch Video Solution

https://dl.doubtnut.com/l/_NgvfbDkiFkfP
https://dl.doubtnut.com/l/_QwTGekUGX8ED


13. From the quadratic equation, if its roots

are 

(ii) 4 and 5

Watch Video Solution

14. From the quadratic equation, if its roots

are 

(iii) 5 and 7

Watch Video Solution

https://dl.doubtnut.com/l/_Mmtf19E9tgzq
https://dl.doubtnut.com/l/_4cvY7yek3Pc7
https://dl.doubtnut.com/l/_PUh7toobnKuT


15. Form the quadratic equation, if the roots

are 

3 and 8

Watch Video Solution

16. Form the quadratic equation if its roots are

3 and –4.

Watch Video Solution

https://dl.doubtnut.com/l/_PUh7toobnKuT
https://dl.doubtnut.com/l/_5zrbXgArKdHf


17. Obtain a quadratic equation whose roots

are -3 and -7.

Watch Video Solution

18. From the quadratic equation, if its roots

are 

(vii) 

Watch Video Solution

4 and
2

3

https://dl.doubtnut.com/l/_5FF1urXoa31b
https://dl.doubtnut.com/l/_A459rzIBxS4y


19. From the quadratic equation, if its roots

are 

(viii) .

Watch Video Solution

and
−25

8

25

8

20. Find k, if the roots of the quadratic

equation  are equal

Watch Video Solution

kx2 − 4x + 4 = 0

https://dl.doubtnut.com/l/_4hXgJOH8xJDt
https://dl.doubtnut.com/l/_M2dNhZ1biP6q


21. Find the value (s) of k for which the given

quadratic equations has real and equal roots: 

(i) .

Watch Video Solution

9x2 + 8kx + 16 = 0

22. Find the value (s) of k for which the given

quadratic equations has real and equal roots: 

(ii) .

Watch Video Solution

kx(x − 2√5) + 10 = 0

https://dl.doubtnut.com/l/_PJwMbgxVpZxz
https://dl.doubtnut.com/l/_tjl1XyeP6BrI
https://dl.doubtnut.com/l/_yvNuXgbI8Jj2


23. Find m, if the quadratic equation

 has real

and equal roots.

Watch Video Solution

(m − 1)x2 − 2(m − 1)x + 1 = 0

24. If  are the roots of the equation 

, find 


(i) 

Watch Video Solution

α and β

x2 − 9x + 14 = 0

α2 + β2

https://dl.doubtnut.com/l/_yvNuXgbI8Jj2
https://dl.doubtnut.com/l/_FsmDawOsljyQ
https://dl.doubtnut.com/l/_jSVA2lzsfvdh


25. If  are the roots of the equation 

, find 


(ii) .

Watch Video Solution

α and β

x2 − 9x + 14 = 0

(α − β)2

26. If  and  are the roots of quadratic

equation  then, find (i) 

 (ii) 

Watch Video Solution

α β

x2 + 5x − 1 = 0

α3 + β3 α2 + β2

https://dl.doubtnut.com/l/_jSVA2lzsfvdh
https://dl.doubtnut.com/l/_LWOMPtPjI6aL


27. If  and  are the roots of quadratic

equation  then, find (i) 

 (ii) 

Watch Video Solution

α β

x2 + 5x − 1 = 0

α3 + β3 α2 + β2

28. The difference between the roots of the

equation , find k.

Watch Video Solution

x2 − 13x + k = 0is7

https://dl.doubtnut.com/l/_vF7mNRLF6Kt8
https://dl.doubtnut.com/l/_V244VG2y9jEm


29. Find k if the sum of the roots of the

quadratic equation  is

equal to their product.

Watch Video Solution

4x2 + 8kx + k + 9 = 0

30. If the sum of the roots of the quadratic

equation is 3 and sum of their cubes is 63, find

the quadratic equation.

Watch Video Solution

https://dl.doubtnut.com/l/_rjX2bsJKL8ub
https://dl.doubtnut.com/l/_QFtBGnVX9L2t
https://dl.doubtnut.com/l/_TAVhm6Ok4e1I


31. Find the value of discriminant of the

following quadratic equations. 

(i) .

Watch Video Solution

x2 + 10 − 7 = 0

32. Find the value of discriminant of the

following quadratic equations. 

(ii) 

Watch Video Solution

2x2 − 3x + 5 = 0

https://dl.doubtnut.com/l/_TAVhm6Ok4e1I
https://dl.doubtnut.com/l/_saXHbQeNndqS
https://dl.doubtnut.com/l/_DeuBAt8adKkb


33. Find the value of discriminant of the

following quadratic equations. 

(iii) .

Watch Video Solution

2m2 + m − 1 = 0

34. Find the value of discriminant of the

following quadratic equations. 

(iv) .

Watch Video Solution

3x2 − 4√3x + 4 = 0

https://dl.doubtnut.com/l/_DeuBAt8adKkb
https://dl.doubtnut.com/l/_xmZT7zI5Wc6G


35. Find the value of discriminant of the

following quadratic equations. 

(v) .

Watch Video Solution

x2 + 7x + 6 = 0

36. Determine the nature of roots of the

following quadratic equations. 

(i) .

Watch Video Solution

9x2 + 6x + 1 = 0

https://dl.doubtnut.com/l/_KWRWAkVuGH2F
https://dl.doubtnut.com/l/_RjatH3bsWVdm
https://dl.doubtnut.com/l/_fp9iFE32JiOy


37. Determine the nature of roots of the

following quadratic equations. 

(ii) .

Watch Video Solution

p2 − √3p + 2 = 0

38. Determine the nature of roots of the

following quadratic equations. 

(iii) .

Watch Video Solution

2x2 − 3x − 2 = 0

https://dl.doubtnut.com/l/_fp9iFE32JiOy
https://dl.doubtnut.com/l/_usdQZd0bwbvh
https://dl.doubtnut.com/l/_ArdNz8htMjQJ


39. Determine the nature of roots of the

following quadratic equations. 

(iv) .

Watch Video Solution

2x2 − 5x + 7 = 0

40. Determine the nature of roots of the

following quadratic equations. 

(v) .

Watch Video Solution

√3x2 + 2√3x + √3 = 0

https://dl.doubtnut.com/l/_ArdNz8htMjQJ
https://dl.doubtnut.com/l/_qsbXZcPSTJhC


41. If  are the roots of the quadratic

equation , then find 

 and .

Watch Video Solution

α and β

2x2 + 6x − 5 = 0

(α + β) α × β

42. From the quadratic equation, if its roots

are 

(i) 10 and 3

Watch Video Solution

https://dl.doubtnut.com/l/_OPokMue6J1gM
https://dl.doubtnut.com/l/_medA0QklCjEi
https://dl.doubtnut.com/l/_LNkqtr7WAJYE


43. From the quadratic equation, if its roots

are 

(ii) 4 and 5

Watch Video Solution

44. From the quadratic equation, if its roots

are 

(iii) 5 and 7

Watch Video Solution

https://dl.doubtnut.com/l/_LNkqtr7WAJYE
https://dl.doubtnut.com/l/_lyOiaMwz7j4P
https://dl.doubtnut.com/l/_Bc9shTsMw7Yl


45. Form the quadratic equation, if the roots

are 

3 and 8

Watch Video Solution

46. Form the quadratic equation if its roots

are 3 and –4.

Watch Video Solution

https://dl.doubtnut.com/l/_Bc9shTsMw7Yl
https://dl.doubtnut.com/l/_Ti7KwhV5gai4


47. Obtain a quadratic equation whose roots

are -3 and -7.

Watch Video Solution

48. From the quadratic equation, if its roots

are 

(vii) 

Watch Video Solution

4 and
2

3

https://dl.doubtnut.com/l/_K1fMKbIYJHdx
https://dl.doubtnut.com/l/_YTtfYeT9Ojm5


49. From the quadratic equation, if its roots

are 

(viii) .

Watch Video Solution

and
−25

8

25

8

50. Find k, if the roots of the quadratic

equation  are equal

Watch Video Solution

kx2 − 4x + 4 = 0

https://dl.doubtnut.com/l/_lZbjq7MDXbwT
https://dl.doubtnut.com/l/_EZeXabzE8w5p


51. Find the value (s) of k for which the given

quadratic equations has real and equal roots: 

(i) .

Watch Video Solution

9x2 + 8kx + 16 = 0

52. Find the value (s) of k for which the given

quadratic equations has real and equal roots: 

(ii) .

Watch Video Solution

kx(x − 2√5) + 10 = 0

https://dl.doubtnut.com/l/_VOmYOy2LcRuZ
https://dl.doubtnut.com/l/_2agVeRrICayw
https://dl.doubtnut.com/l/_ha1KgJi45OMQ


53. Find m, if the quadratic equation

 has real

and equal roots.

Watch Video Solution

(m − 1)x2 − 2(m − 1)x + 1 = 0

54. If  are the roots of the equation 

, find 


(i) 

Watch Video Solution

α and β

x2 − 9x + 14 = 0

α2 + β2

https://dl.doubtnut.com/l/_ha1KgJi45OMQ
https://dl.doubtnut.com/l/_hqlcw1oxVID2
https://dl.doubtnut.com/l/_9AEA3RFkBt9r


55. If  are the roots of the equation 

, find 


(ii) .

Watch Video Solution

α and β

x2 − 9x + 14 = 0

(α − β)2

56. If  and  are the roots of quadratic

equation  then, find (i) 

 (ii) 

Watch Video Solution

α β

x2 + 5x − 1 = 0

α3 + β3 α2 + β2

https://dl.doubtnut.com/l/_9AEA3RFkBt9r
https://dl.doubtnut.com/l/_NaI1By6sjDoJ


57. If  and  are the roots of quadratic

equation  then, find (i) 

 (ii) 

Watch Video Solution

α β

x2 + 5x − 1 = 0

α3 + β3 α2 + β2

58. The difference between the roots of the

equation , find k.

Watch Video Solution

x2 − 13x + k = 0is7

https://dl.doubtnut.com/l/_sckgRP9nCaaF
https://dl.doubtnut.com/l/_AY84QnsDz2QS


59. Find k if the sum of the roots of the

quadratic equation  is

equal to their product.

Watch Video Solution

4x2 + 8kx + k + 9 = 0

60. If the sum of the roots of the quadratic

equation is 3 and sum of their cubes is 63, find

the quadratic equation.

Watch Video Solution

https://dl.doubtnut.com/l/_6E9um4dAP9Xd
https://dl.doubtnut.com/l/_MYrZVcaqdiAo


Additional Problems For Practice Based On

Practice Set 2 6

1. The product of Yusuf's age 5 years ago with

his age 9 years later is 176. find Yusuf's present

age.

Watch Video Solution

2. The product of two consecutive positive

number is 182, find the number.

Watch Video Solution

https://dl.doubtnut.com/l/_AnVvaaThDBDa
https://dl.doubtnut.com/l/_HBjhSjSKLpmu


3. Sanket purchesed a rectangular plot having

area . Length of the plot was 10m more

than its breadth. Find the length and breadth

of the plot.

Watch Video Solution

200m2

4. The length of a rectangle is thrice as long as

the side of a square. The side of the square is

https://dl.doubtnut.com/l/_HBjhSjSKLpmu
https://dl.doubtnut.com/l/_sCaRVhWvaQdT
https://dl.doubtnut.com/l/_Ym0dXyWn4Tut


4 cm more than the width of the rectangle.

Their areas being equal, find their dimensions.

Watch Video Solution

5. The sum of a number and its reciprocal is

, find the number(s).

Watch Video Solution

10

3

6. A natural number is greater than the other

by 5. The sum of their squares is 73. find the

https://dl.doubtnut.com/l/_Ym0dXyWn4Tut
https://dl.doubtnut.com/l/_EqlOKGprwmSr
https://dl.doubtnut.com/l/_lVTznu35vRyn


numbers.

Watch Video Solution

7. The divisor and quotient of the number 6123

are same and the remainder is half the divisor.

Find the divisor.

Watch Video Solution

8. There is a rectangular onion storehouse in

the farm of Mr. Ratnakarrao at Tivasa. The

https://dl.doubtnut.com/l/_lVTznu35vRyn
https://dl.doubtnut.com/l/_wD2HithAjPT9
https://dl.doubtnut.com/l/_3uwTO459sSIk


length of rectangular base is more than its

breadth by 7m and digonal is more than

length by 1 m. Find length and breadth of the

storehouse.

Watch Video Solution

9. From the same place at 7 a.m. A started

walking in the north at the speed of .

After 1 hours B stated cycling in the east at a

speed of . At what time they will be at

a distance of 20 km apart from each other?

4km/hr

8km/hr

https://dl.doubtnut.com/l/_3uwTO459sSIk
https://dl.doubtnut.com/l/_Jj0Y3IA65kaY


Watch Video Solution

10. The denominator of a fraction exceeds its

numerator by 2. If one is added to both

numerator and denominator, the difference

between new and the original fraction is .

Find the original fraction with positive

denominator.

Watch Video Solution

1

28

https://dl.doubtnut.com/l/_Jj0Y3IA65kaY
https://dl.doubtnut.com/l/_o5YQdIw55aXO


11. A train, travelling at a uniform speed for

360 km, would have taken 48 minutes less to

travel the same distance if its speed were 5

km/h more. Find the original speed of the

train.

Watch Video Solution

12. The area of a rectangular playground is 420

sq.m. If its length is increasing by 7m and

breadth is decreased by 5m, the area remains

https://dl.doubtnut.com/l/_GQD8GTcE9Nbz
https://dl.doubtnut.com/l/_YaZ0ek0FaKO1


the same.Find the length and breadth of the

playground.

Watch Video Solution

13. If the cost of bananas is increased by

rupees 10 per dozen, one can get 3 dozen less

for rupees 600. Find the original cost of one

dozen of bananas.

Watch Video Solution

https://dl.doubtnut.com/l/_YaZ0ek0FaKO1
https://dl.doubtnut.com/l/_debVspTGJCSs


14. Anand takes 9 days more than his father to

do a certain piece of work. Together they can

do the work in 6 days. How many days will

Anand take to do that work alone?

Watch Video Solution

15. One tank can be filled up by two taps in 6

hours. The smaller tap alone takes 5 hours

more than the bigger tap alone. Find the time

required by each tap to fill the tank separately.

https://dl.doubtnut.com/l/_cJMF5UAHSB8B
https://dl.doubtnut.com/l/_ZL4pGurVsVFY


Watch Video Solution

16. The product of Yusuf's age 5 years ago and

his age 5 years ago and his age 9 years hence

is 176. find Yusuf's present age.

View Text Solution

17. The product of two consecutive positive

number is 182, find the number.

Watch Video Solution

https://dl.doubtnut.com/l/_ZL4pGurVsVFY
https://dl.doubtnut.com/l/_hcmFXjpA9lCl
https://dl.doubtnut.com/l/_DA3uiaHg1sdL


18. Sanket purchesed a rectangular plot having

area . Length of the plot was 10m more

than its breadth. Find the length and breadth

of the plot.

Watch Video Solution

200m2

19. The length of a rectangle is twice as long as

the side of a square. The side of a square is 4

cm longer than the width of the same

https://dl.doubtnut.com/l/_P0HD23rbriaR
https://dl.doubtnut.com/l/_0fWABjsUZSyL


rectangle. If their areas are equal, find their

dimensions.

Watch Video Solution

20. The sum of a natural number and its

reciprocal is . Find the number.

Watch Video Solution

10

3

21. A natural number is greater than the other

by 5. The sum of their squares is 73. find the

https://dl.doubtnut.com/l/_0fWABjsUZSyL
https://dl.doubtnut.com/l/_89CNFmV6hqyn
https://dl.doubtnut.com/l/_SkNBr0pN2fuv


numbers.

Watch Video Solution

22. The divisor and quotient of the number

6123 are same and the remainder is half the

divisor. Find the divisor.

Watch Video Solution

23. There is a rectangular onion storehouse in

the farm of Mr. Ratnakarrao at Tivasa. The

https://dl.doubtnut.com/l/_SkNBr0pN2fuv
https://dl.doubtnut.com/l/_Mq1iv9eAa2Hr
https://dl.doubtnut.com/l/_7rZqIK2Dgmw8


length of rectangular base is more than its

breadth by 7m and digonal is more than

length by 1 m. Find length and breadth of the

storehouse.

Watch Video Solution

24. From the same place at 7 a.m. A started

walking in the north at the speed of .

After 1 hours B stated cycling in the east at a

speed of . At what time they will be at

a distance of 20 km apart from each other?

4km/hr

8km/hr

https://dl.doubtnut.com/l/_7rZqIK2Dgmw8
https://dl.doubtnut.com/l/_xJCdbYBbEJ7E


Watch Video Solution

25. The denominator of a fraction exceeds its

numerator by 2. If one is added to both

numerator and denominator, the difference

between new and the original fraction is .

Find the original fraction with positive

denominator.

Watch Video Solution

1

28

https://dl.doubtnut.com/l/_xJCdbYBbEJ7E
https://dl.doubtnut.com/l/_Yzq2u8C7pwnK


26. Solve the following questions. 

(ii) A train travels 360 km with uniform

speed.The speed of the train is increased by 5

, it takes 48 minutes less to cover the

same distance. Find the initial speed of the

train.

Watch Video Solution

km/hr

27. The area of a rectangular playground is

420 sq.m. If its length is increasing by 7m and

https://dl.doubtnut.com/l/_EFPAx5IYe8Ri
https://dl.doubtnut.com/l/_kuWttOoHGezB


breadth is decreased by 5m, the area remains

the same.Find the length and breadth of the

playground.

Watch Video Solution

28. If the cost of bananas is increased by

rupees 10 per dozen, one can get 3 dozen less

for rupees 600. Find the original cost of one

dozen of bananas.

Watch Video Solution

https://dl.doubtnut.com/l/_kuWttOoHGezB
https://dl.doubtnut.com/l/_ZpD8Nfk9umR0
https://dl.doubtnut.com/l/_IeN54dLOzZ4c


29. Anand takes 9 days more than his father to

do a certain piece of work. Together they can

do the work in 6 days. How many days will

Anand take to do that work alone?

Watch Video Solution

30. One tank can be filled up by two taps in 6

hours. The smaller tap alone takes 5 hours

more than the bigger tap alone. Find the time

required by each tap to fill the tank separately.

Watch Video Solution

https://dl.doubtnut.com/l/_IeN54dLOzZ4c
https://dl.doubtnut.com/l/_6ZI6zrHLRhWS


Chapter Assessment

1. Choose the correct alternative. 

(i) Which of the following is a quadratic

equation?

A. 

B. 

C. 

D. 

x2 + 3x + 1 = (x − 2)2

(x + 1)2 = 5(x − 9)

x3 − 1 = 0

5x + 9 = 0

https://dl.doubtnut.com/l/_6ZI6zrHLRhWS
https://dl.doubtnut.com/l/_IAOUfhSvdpch


Answer:

Watch Video Solution

2. Choose the correct alternative. 

(ii) If one root of the quadratic equation

 is 3, then the value of k is

A. 

B. 

C. 

D. 

3x2 − 12x + k = 0

6

−6

9

−9

https://dl.doubtnut.com/l/_IAOUfhSvdpch
https://dl.doubtnut.com/l/_oGILtZbsPh1o


Answer:

Watch Video Solution

3. Choose the correct alternative. 

(iii) Which of the following quadratic

equations has roots ?

A. 

B. 

C. 

D. 

−2, 5

x2 − 3x + 10

x2 − 3x − 10

x2 − 10x + 9

x2 − 10x − 9

https://dl.doubtnut.com/l/_oGILtZbsPh1o
https://dl.doubtnut.com/l/_iwFu9cCX3Vfs


Answer:

Watch Video Solution

4. Solve for x


A. 

B. 

C. 

D. 

Answer:

√3x2 − 2√2x − 2√3 = 0

24

−24

32

−32

https://dl.doubtnut.com/l/_iwFu9cCX3Vfs
https://dl.doubtnut.com/l/_psSH1vKN5xN0


Watch Video Solution

5. Solve the following question.

(i) Find the value of k for which the roots of

quadratic equation  are real

and equal.

Watch Video Solution

kx2 + 2x + 3 = 0

6. Solve the following question.

(ii) For the quadratic equation

https://dl.doubtnut.com/l/_psSH1vKN5xN0
https://dl.doubtnut.com/l/_d0fPhczKEAj7
https://dl.doubtnut.com/l/_KkMpJcneANNL


, check whether m=3 and

m=-7 are the roots or not ?

Watch Video Solution

m2 + 5m − 14 = 0

7. Complete the following activities. 

(i) Classify the following polynominals as linear

and quadratic polynominals: 

 


Watch Video Solution

8x − 1, 3x2, 5x2 + 3x + 2, x − 2

https://dl.doubtnut.com/l/_KkMpJcneANNL
https://dl.doubtnut.com/l/_zM3jDtsGyMYE


8. Complete the following activities. 

(ii) fill in the blanks 

Watch Video Solution

https://dl.doubtnut.com/l/_zM3jDtsGyMYE
https://dl.doubtnut.com/l/_PPxwfZLE6W5y


9. If one root of the quadratic equation

 is , find the value of k.

Watch Video Solution

3y2 − ky + 8 = 0
2

3

10. Solve the following questions 

(ii) Solve the following quadratic equation by

factroisation method. 

.

Watch Video Solution

x2 − 17x + 60 = 0

https://dl.doubtnut.com/l/_emllNK9O6Ltb
https://dl.doubtnut.com/l/_DMIizzbK8Vlr
https://dl.doubtnut.com/l/_NLVc1Bum9AcP


11. Solve the following questions 

(iii) Determine the nature of the roots of the

quadratic equation .

Watch Video Solution

3x2 + 9x + 4 = 0

12. Solve the following questions 

(iv) From the quadratic equation, if its roots

are 5 and -7.

Watch Video Solution

https://dl.doubtnut.com/l/_NLVc1Bum9AcP
https://dl.doubtnut.com/l/_2g2Z8ltw8K5V
https://dl.doubtnut.com/l/_U4kzFBw8CH1E


13. Solve the following questions. 

(i) Solve the following qudratic equation by

completing square: 

Watch Video Solution

4m2 − 12m = − 7

14. Solve the following questions. 

(ii) Find k, if the sum of the roots of the

qudratic equation

 is equal to

their product.

3x2 − (3k − 2)x − (k − 6) = 0

https://dl.doubtnut.com/l/_U4kzFBw8CH1E
https://dl.doubtnut.com/l/_aMjNxH1RdrWd


Watch Video Solution

15. Find m, if the quadratic equation

Watch Video Solution

x2 − 2(m + 1)x + m2 = 0

16. the product of two consecutive natural

number is 132.find the numbers

Watch Video Solution

https://dl.doubtnut.com/l/_aMjNxH1RdrWd
https://dl.doubtnut.com/l/_KIzw2O1D2Zfn
https://dl.doubtnut.com/l/_5U7xSjV7mk3W
https://dl.doubtnut.com/l/_sA1FOYBrn7Xk


17. If , find the

quadratic equation whose roots are .

Watch Video Solution

α + β = 5 and α3 + β3 = 35

α and β

18. Solve the following questions. 

(i) Suppose height of a right angled triangle is

1 less than two times its base. It's hypotenuse

is 7 less than 3 times its base. Find all the

sides of the right angled triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_sA1FOYBrn7Xk
https://dl.doubtnut.com/l/_HGmhWNT7NvVA


19. Solve the following questions. 

(ii) The roots of the equation

 differ by 4, then show that 

.

Watch Video Solution

x2 − 3ax + b = 0

9a2 = 4b + 16

20. Solve the following questions. 

(i) Find the roots of the equation

 by solving graphically.

Watch Video Solution

x2 − 2x − 3 = 0

https://dl.doubtnut.com/l/_vlexaRGkykWV
https://dl.doubtnut.com/l/_ra92BI7BYmiB


21. Solve the following questions. 

(ii) A train travels 360 km with uniform

speed.The speed of the train is increased by 5

, it takes 48 minutes less to cover the

same distance. Find the initial speed of the

train.

Watch Video Solution

km/hr

22. Choose the correct alternative. 

(i) Which of the following is a quadratic

https://dl.doubtnut.com/l/_ra92BI7BYmiB
https://dl.doubtnut.com/l/_YLzijxwWvDVe
https://dl.doubtnut.com/l/_IAdIcxvqseSq


equation?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 + 3x + 1 = (x − 2)2

(x + 1)2 = 5(x − 9)

x3 − 1 = 0

5x + 9 = 0

https://dl.doubtnut.com/l/_IAdIcxvqseSq


23. Choose the correct alternative. 

(ii) If one root of the quadratic equation

 is 3, then the value of k is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3x2 − 12x + k = 0

6

−6

9

−9

https://dl.doubtnut.com/l/_y2lXDnI5JP75


24. Choose the correct alternative. 

(iii) Which of the following quadratic

equations has roots ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−2, 5

x2 − 3x + 10

x2 − 3x − 10

x2 − 10x + 9

x2 − 10x − 9

https://dl.doubtnut.com/l/_rU2xYoXcYQ6n


25. Choose the correct alternative. 

(iv) For , the value

of the discriminant is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√3x2 − 2√2x − 2√3 = 0

24

−24

32

−32

https://dl.doubtnut.com/l/_CzBSaY86absm


26. Solve the following question.

(i) Find the value of k for which the roots of

quadratic equation  are real

and equal.

Watch Video Solution

kx2 + 2x + 3 = 0

27. Solve the following question.

(ii) For the quadratic equation

, check whether m=3 and

m=-7 are the roots or not ?

m2 + 5m − 14 = 0

https://dl.doubtnut.com/l/_oYKHkJn5e4N2
https://dl.doubtnut.com/l/_lQItqOUAiadW


Watch Video Solution

28. Complete the following activities. 

(i) Classify the following polynominals as linear

and quadratic polynominals: 

 


Watch Video Solution

8x − 1, 3x2, 5x2 + 3x + 2, x − 2

https://dl.doubtnut.com/l/_lQItqOUAiadW
https://dl.doubtnut.com/l/_gtLxhhaSrK1y


29. Complete the following activities. 

(ii) fill in the blanks 

Watch Video Solution

30. Solve the following questions 

(i) if  is one of the roots of the equationy =
2

3

https://dl.doubtnut.com/l/_k21zlBHKIdPx
https://dl.doubtnut.com/l/_VO7HSlWfcjXQ


, then find the value of k.

Watch Video Solution

3y2 − ky + 8 = 0

31. Solve the following questions 

(ii) Solve the following quadratic equation by

factroisation method. 

.

Watch Video Solution

x2 − 17x + 60 = 0

https://dl.doubtnut.com/l/_VO7HSlWfcjXQ
https://dl.doubtnut.com/l/_W9nXxultOV64


32. Solve the following questions 

(iii) Determine the nature of the roots of the

quadratic equation .

Watch Video Solution

3x2 + 9x + 4 = 0

33. Solve the following questions 

(iv) From the quadratic equation, if its roots

are 5 and -7.

Watch Video Solution

https://dl.doubtnut.com/l/_TEFc8UeviWMf
https://dl.doubtnut.com/l/_YloRXTPOm9KH
https://dl.doubtnut.com/l/_apPi2tUVvrNW


34. Solve the following questions. 

(i) Solve the following qudratic equation by

completing square: 

Watch Video Solution

4m2 − 12m = − 7

35. Solve the following questions. 

(ii) Find k, if the sum of the roots of the

qudratic equation

 is equal to

their product.

3x2 − (3k − 2)x − (k − 6) = 0

https://dl.doubtnut.com/l/_apPi2tUVvrNW
https://dl.doubtnut.com/l/_069Kc2r2FXOj


Watch Video Solution

36. Find m, if the quadratic equation

Watch Video Solution

x2 − 2(m + 1)x + m2 = 0

37. the product of two consecutive natural

number is 132.find the numbers

Watch Video Solution

https://dl.doubtnut.com/l/_069Kc2r2FXOj
https://dl.doubtnut.com/l/_rAyKkPJnlkhR
https://dl.doubtnut.com/l/_KkzKdbeiMVs0
https://dl.doubtnut.com/l/_YfjQr8IvOHFV


38. If , find the

quadratic equation whose roots are .

Watch Video Solution

α + β = 5 and α3 + β3 = 35

α and β

39. Solve the following questions. 

(i) Suppose height of a right angled triangle is

1 less than two times its base. It's hypotenuse

is 7 less than 3 times its base. Find all the

sides of the right angled triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_YfjQr8IvOHFV
https://dl.doubtnut.com/l/_N2ivxse5nIXb


40. Solve the following questions. 

(ii) The roots of the equation

 differ by 4, then show that 

.

Watch Video Solution

x2 − 3ax + b = 0

9a2 = 4b + 16

41. Solve the following questions. 

(i) Find the roots of the equation

 by solving graphically.

Watch Video Solution

x2 − 2x − 3 = 0

https://dl.doubtnut.com/l/_WJfsvmvfDrgT
https://dl.doubtnut.com/l/_tUKEMfoSXAR5


42. Solve the following questions. 

(ii) A train travels 360 km with uniform

speed.The speed of the train is increased by 5

, it takes 48 minutes less to cover the

same distance. Find the initial speed of the

train.

Watch Video Solution

km/hr

https://dl.doubtnut.com/l/_tUKEMfoSXAR5
https://dl.doubtnut.com/l/_KxpJQEt9WC8W

